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Question Number : 1 Question Id : 97675510882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

M-26, P-32, S-38, V-44, ?
Options :
A. ¥ Y-50
B. ® Z-52
C. * X-48
D. * T-24



Question Number : 1 Question Id : 97675510882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e famedl § 9, 30ft # g ug ) 31 STl

M-26, P-32, S-38, V-44, ?
Options :

A. ¥ Y-50

B. # Z-52

C. % X-48

D. # T-24

Question Number : 2 Question Id : 97675510883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter cluster in the series.

HANDWASH, KDNDWASH, ?, HANDZDSH, HANDWAVK
Options :

A. ¥ HAQPVZSH

B. ¥ HAQGWASH

C. ¥ HAOPWASH

D. # KDQGWASH

Question Number : 2 Question Id : 97675510883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U fasedi O 9, Juft & o 316R T4 &1 A1 HIY|

HANDWASH, KDNDWASH, ?, HANDZDSH, HANDWAVK
Options :
A. ¥ HAQPVZSH




B. ¥ HAQGWASH
C. ¥ HAOPWASH
D. ¥ KDQGWASH

Question Number : 3 Question Id : 97675510884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the odd one out from the given alternatives.
Options :

A. ¥ MADAM

B. ¥ NAMAN

C. ¥ TOUCH

D. # RADAR

Question Number : 3 Question Id : 97675510884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3{eRT o fau 7T THg o ¥ fawd ug &1 g+ |
Options :

A. ¥ MADAM

B. ¥ NAMAN

C. ¥ TOUCH

D. * RADAR

Question Number : 4 Question Id : 97675510885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the words share the same relationship as that shared by the given pair of words.

School : Study
Options :
A. * University : President



B. ¥ Temple : Worship
C. # GoldenTemple : Amritsar

D. # Zoo : Animals

Question Number : 4 Question Id : 97675510885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faered &1 99 Y, o aw Wregi &1 3109 H 9] Iaiy g, S daey -1 f3U 71U Xrea-g™ & Weal & a1 5
faemer : sieage

Options :

A. % fayfaemer . sreme
B.Jﬁﬁ?:w

C. % WU : AR
D. % fIfSTmeR : SR

Question Number : 5 Question Id : 97675510886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter cluster from the given alternatives.

GOLF : GKPF : : BATS : ?
Options :

A. % CIME

B. ¥ BMIE

C. # GMLE

D. ¥ TSBA

Question Number : 5 Question Id : 97675510886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffefad = 1, fau U fawedl O O Te&fed sieR IHg &1 94 H |



GOLF : GKPF : : BATS : ?
Options :

A. * CJIME

B. # BMIJE

C. * GMLE

D. ¥ TSBA

Question Number : 6 Question Id : 97675510887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, '"WATER' is coded as '42' and 'REST' is coded as '12'. How will ‘EARTH' be coded as in that language?
Options :

A. % 28

B. ¥ 10

C. %79

D. # 50

Question Number : 6 Question Id : 97675510887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreit ST e HTOT &, 'WATER' @1 '42' 3R 'REST' &I <12” foRaT ST € 1 39 YW § ‘EARTH' I ¥ ferar S
Options :

A. # 28

B. ¥ 10

C. %179

D. # 50

Question Number : 7 Question Id : 97675510888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a row of 15 children, when Raju was shifted three places towards right, he becomes 8th from the right end. What was his earlier position from



the left end of the row?
Options :

A %7

B. ¥ 5

C. %6

D. * 11

Question Number : 7 Question Id : 97675510888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 15 Fdi D1 Ufad B, 6 A9 - VI &Y RITd ST 98 ST B8R ¥ 313d RIM WR g1 S| IR™ & Ufad & 91 SR I I9HT D
T RIT 4T 2

Options :

A =7

B.¥5

C.®=6

D. # 11

Question Number : 8 Question Id : 97675510889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a lady, A man said, "The son of her only brother is the brother of my wife." How is lady related to that man.
Options :

A. * Mother’s Sister

B. * Grand mother

C. * Mother-in-law

D. # Sister of father-in-law

Question Number : 8 Question Id : 97675510889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % T I g8
B. ® grdlAML

C. ® 9N

D. ¥ TR B g4

Question Number : 9 Question Id : 97675510890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
Some books are cards.
Some cards are pretty.

Options :

A. % Some books are pretty
B. # All pretty are books
C. # All cards are books
D. ¥ Some pretty are cards

Question Number : 9 Question Id : 97675510890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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$S fhde, FIS B
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Options :

A. ® $3 fhae, g g




B. # gt Ger, fpare &
c. % gt o1, fbae &
D. ¥ $ Yox, TS &

Question Number : 10 Question Id : 97675510891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below is given two statements followed by two conclusions. You have to assume everything in the statements to be true, then
consider the conclusions together and decide which of them logically follows beyond a reasonable doubt from the information given in the
statement.

Statements:
Some corns are chillies.
Some chillies are potatoes.

Conclusions :
I. Some corns are potatoes.
II. Some potatoes are corns.

Options :

A. # If only conclusion I follows
B. ® If only conclusion II follows
C. # Ifeither I or II follows

D. ¥ If neither I nor II follows

Question Number : 10 Question Id : 97675510891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % Tfe Pad Fepy 1 SR BT 8

B. ® T Had FHY 11 SR BT §

C. % g a1 Y FAsh 17 11 SRR vl &

D. ¢ g T Fsam 1 3R 9 8 Feend 11 SrRu il @

Question Number : 11 Question Id : 97675510892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statements:
U>H=G=N;E<N>W=>0

Conclusions:
I.G>E
II. H>N

Options :

A. ¥ Only conclusion I is true

B. # Only conclusion II is true

C. # Either conclusion I or II is true

D. # Neither conclusion I nor II is true

Question Number : 11 Question Id : 97675510892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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U>H=G>2N;E<N>W=>0

frepy-
. G>E
II. H>N

Options :

A. ¥ Pad TspY 19§

B. % ®ad (s 1 I B
c.*gafpd 1o ngas

D. % Fa ey [ SR A g Fspd 1T §

Question Number : 12 Question Id : 97675510893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If '+ means ', '-' means 'x', 'x' means '+' and '=-' means '-', then what will be the value of 11 x 15-81 +27 + 18?
Options :

A. % 146

B. # 214

C. ¥ 38

D. # 83

Question Number : 12 Question Id : 97675510893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

q‘%'+'$[&[2f'+', '-'W\’r[?f'X', ' T 37 GﬁT'+'$[31’2f'-'%,?‘ﬁ 11 % 15 - 81 + 27 + 18 T H- &1 8RT?
Options :

A. * 146

B. # -214

C. ¥ 38

D. # 83

Question Number : 13 Question Id : 97675510894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in a series given below.

5,9, 16,29, 54,103, ?
Options :

A. % 102

B. % 94

C. %103

D. ¥ 200

Question Number : 13 Question Id : 97675510894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<t mft 9oft & q T=m 31 S|

5,9, 16,29, 54,103, ?
Options :

A. % 102

B. % 94

C. %103

D. ¥ 200

Question Number : 14 Question Id : 97675510895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which number will replace the question mark in the following series:
217, 344, 513, 730, ?

Options :
A. % 1000
B. ¥ 1001
C. % 999
D. #* 10001



Question Number : 14 Question Id : 97675510895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad e gaar § St Te Uy forg & ufaeitiid & -
217, 344, 513, 730, ?

Options :
A. % 1000
B. ¥ 1001
C. % 999
D. * 10001

Question Number : 15 Question Id : 97675510896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates best the relationship among:

5 5

, Q0D

A.

B. #

©

C. =



Question Number : 15 Question Id : 97675510896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 7% g - fou U g faarRt @ gxifdr 8, df 98 STR i T1d L Sl Y & qad dgaR e &1 g |

Options :

, QD

A.

B. #

©

C. =



Question Number : 16 Question Id : 97675510897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Keeping his back to the rising sun, Rakesh started walking. After a few minutes he turned left and kept on walking. Then a little later he turned
left and then right. In which direction is he going at the moment?

Options :
A. ¥ South
B. # West
C. # East
D. # North

Question Number : 16 Question Id : 97675510897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¢ Tigo

B. ® Oi3Hg

C.®¥7d

D. # 3

Question Number : 17 Question Id : 97675510898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the related figure from the given alternatives.

Sk

Question figures:

-

Options :

1_I"
A ®

(_Ll
B. ¢

"
C. %

R,
D. %

Question Number : 17 Question Id : 97675510898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

B. ¢

o
oE
o
o3

Question Number : 18 Question Id : 97675510899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
How many quadrilaterals are there in the given figure?

Options :
A. % 20
B. # 19
C. %24
D. ¥ 22

Question Number : 18 Question Id : 97675510899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o B e g ¥

Options :
A. % 20
B. % 19
C. %24
D. ¥ 22

Question Number : 19 Question Id : 97675510900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following will be the mirror image of the given figure when a mirror is placed along PQ?

Question figure:

P
I
N 0

Options :

]
N =07

B. #

0O /7

|
X o




Question Number : 19 Question Id : 97675510900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 20 Question Id : 97675510901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

AN
Y »

Options :

=

>

F

C. %

2

D. #




Question Number : 20 Question Id : 97675510901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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N »

Options :

+

%
X

2

D. #




General Awareness

Group Number : 2

Group Id : 976755325
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 976755650
Section Number : 1

Section type : Online
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Number of Questions : 20
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755769
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675510902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states is known for the practice of Mithila style of painting?
Options :

A. ¥ Bihar

B. # Karnataka



C. ®# Kerala
D. # Uttar Pradesh

Question Number : 21 Question Id : 97675510902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & 3 forg Yo &1 Y et & e & snam o e ST T 82
Options :

A. ¢ f98R

B. % ®lcH

C. % I

D. ¥ IR U

Question Number : 22 Question Id : 97675510903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Damphu is a rare musical instrument belongs to indegenious community of which state of India?
Options :

A. #* Himachal Pradesh

B. # Arunchal Pradesh

C. # Bihar

D. # Sikkim

Question Number : 22 Question Id : 97675510903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S U oy TTTd areds YR & [l o & WoRi 9/ I Jafed g2
Options :

A. % T3HTEd Uex

B. ¥ UM FaxT

C. % f9gR



D. ¢ RifewH

Question Number : 23 Question Id : 97675510904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The "huge rock on way to Hampi" is located in which of the following states?
Options :

A. # Maharashtra

B. # Telangana

C. ¥ Karnataka

D. ¥ Andhra Pradesh

Question Number : 23 Question Id : 97675510904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g0 & I B famma ggm afafed 3 @ few v § Ry &2
Options :

A. * HgRIY

B. % TS

C. ¥ HHlcH

D. #® 3y YT

Question Number : 24 Question Id : 97675510905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The interest rate paid by the banks to depositors is lower than the rate charged by the banks from the borrowers. This difference between these
two types of interest rates is called what?

Options :

A. # Interest Deficit

B. ¥ Spread

C. # High Powered Money
D. # Dividends



Question Number : 24 Question Id : 97675510905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ IS DI HH (Interest Deficit)

B. ¥ TIg

C. % I Tl 5A

D. # TIYHIX (Dividend)

Question Number : 25 Question Id : 97675510906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which article of the Constitution, it is provided to present before the Parliament a statement of estimated receipts and expenditures of the
government in respect of every financial year?

Options :
A. # 108
B. # 109
C. % 111
D. ¥ 112

Question Number : 25 Question Id : 97675510906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfaem & oy srfwse & ded, TUe & JHe UAS AT oy & Taiey o TR @ Sa1fa uiftrdl 3R 2 1 faarur vgd & &1
BICOIERS

Options :

A. * 108

B. # 109

C. = 111




D. ¥ 112

Question Number : 26 Question Id : 97675510907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What number of elements are provided in the modern periodic table?
Options :

A. * 94

B. * 108

C.¥ 118

D. #* 100

Question Number : 26 Question Id : 97675510907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Ny 3fad RO 7 fbam da feg mu @2
Options :

A. * 94

B. # 108

C.¥ 118

D. * 100

Question Number : 27 Question Id : 97675510908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the melting point of tungsten which is used for making bulb filaments?
Options :

A. ¥ 3380°C

B. # 1200°C

C. # 1280°C

D. # 3100°C



Question Number : 27 Question Id : 97675510908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR, oI ST Sed fhamhic 99 & folu foham ST 8, &7 TTa-iis R g 2
Options :

A. ¥ 3380°C

B. # 1200°C

C. # 1280°C

D. # 3100°C

Question Number : 28 Question Id : 97675510909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indian states are the first one in India that has made rooftop rainwater harvesting structure compulsory to all the houses
across the state?

Options :

A. # Kerala

B. ¥ Tamil Nadu
C. #* Rajashtan
D. *# Haryana

Question Number : 28 Question Id : 97675510909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafiad 7 9 o T HRAT 59 3 Uged! IR I8 & I TR H T WR I STd Soa SET ol G -7 2
Options :

A. ® B

B. ¢ THeHTg

C. % JORYM

D. * giwaron




Question Number : 29 Question Id : 97675510910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Viticulture is known as the cultivation and harvesting of what?
Options :

A. ¥ Grapes

B. # Flowers

C. ¥ Wheat

D. # Peanuts

Question Number : 29 Question Id : 97675510910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i meer P! frae! H 3R Herg & = H ST Il 82
Options :

A. ¥ 3R

B. # U

C. % g

D. ¥ HIhdl

Question Number : 30 Question Id : 97675510911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mughal Leader, Nasiruddin Humayun was defeated by which Afghan Leader in the Battle of Chausa in the year 1539?
Options :

A. * Ahmed Shah Durrani

B. ¥ Ibrahim Lodi

C. ¥ Sher Shah Sur

D. ¥ Dost Mohammad Khan

Question Number : 30 Question Id : 97675510911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TTE ©i1eR, THREH gAY 1 Ty 1B a1 3 a9 1539 H 91 & g | WRiford faear 42
Options :

A. % 3[gHE 8 g

B. ¥ S(gH olial

C. ¥ WIME PR

D. * G HIgHG @M

Question Number : 31 Question Id : 97675510912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Governor General of India during the revolt of 1857?
Options :

A. ¥ James Andrew Broun-Ramsay Dalhousie

B. ¥ Charles John Canning

C. ¥ William Henry Cavendish-Bentinck

D. ¥ Lord Minto

Question Number : 31 Question Id : 97675510912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 % fa5IE & THI URd BT Ta-R SR DI U1?
Options :

A. % I T8y SH-I9Y Sagen

B. ¥ AT Sl19 i=iT

C. % faferm g1 Hafs-dfies

D. % s firet

Question Number : 32 Question Id : 97675510913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who was the first Director-General of the Archaeological Survey of India (ASI), also known as the father of Indian archaeology?
Options :

A. ¥ Alexander Cunningham

B. # V. Vidyavathi

C. # James Burgess

D. # Daya Ram Sahni

Question Number : 32 Question Id : 97675510913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR QRIT TAEUT (ASI) & Ugal HIHC R DI &, fofg UR RIdd o U & =0 7 o 71 511 g2
Options :

A. ¢ 3fIdSR DT

B. ® fq faemadt

C. % S Y

D. ¥ g1 IH Hig-t

Question Number : 33 Question Id : 97675510914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"The Commonwealth of Cricket" is a book written by which of the following authors?
Options :

A. ¥ Ramchandra Guha

B. # Abhishek Mukherjee

C. # Dennis Amiss

D. # Jan Marshall

Question Number : 33 Question Id : 97675510914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"HiITaed 3 fohdre Fafafad @ ¥ forg oas gRi ferdt 718 g&® 82

Options :



A. ¢ TG 8T
B. ¥ NS gEsif
c. ® S
D. % g AR

Question Number : 34 Question Id : 97675510915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which foreign leader received the Padma Vibhushan award in 20217?
Options :

A. # Donald Trump

B. ¥ Shinzo Abe

C. # Borris Johnson

D. # Emmanuel Macron

Question Number : 34 Question Id : 97675510915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fobg fae=i A1 o1 2021 & TaT fayyor RER e
Options :

A. % SHIES ¢

B. ¥ Rl 3fel

C. # SIRE S

D. % SHIUA HehH

Question Number : 35 Question Id : 97675510916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which telecom company has become the first in India to demonstrate the operation of the 5G network?
Options :

A. #* Reliance Jio



B. * Idea-Vodafone
C. ¥ Bharti Airtel
D. % BSNL

Question Number : 35 Question Id : 97675510916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 St Aeadh & FATe BT UG B aTel HRA &1 Ugel! GRUAR HU-1 DI It & 75 82
Options :

A. % oy forn

B. % 35Sl - ASTHIA

C. ¥ YRl TRed

D. ¥ dUqTATA

Question Number : 36 Question Id : 97675510917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which fruit has been renamed by the Gujarat government as 'Kamalam' which means Lotus in Sanskrit?
Options :

A. ¥ Dragon Fruit

B. # Kiwi

C. % Mango

D. * Banana

Question Number : 36 Question Id : 97675510917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI WRER {6 Hdl &1 10 Taaax ‘GHAT @, o1 3 Tpd & HHd g2
Options :

A. ¢ STH %A

B. ¥ $idl




C. % 39
D. # &l

Question Number : 37 Question Id : 97675510918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many entries are there in the Union List provided in Seventh Schedule of the Indian Constitution, when Indian constitution was formed?
Options :

A. * 66

B. # 69

C. #* 99

D. ¥ 97

Question Number : 37 Question Id : 97675510918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT Afae™ &1 gradl SHgd! § Ued 99 gt H $d fova- ufafdar It Sia dfaem s am
Options :

A. * 66

B. * 69

C. %99

D. ¥ 97

Question Number : 38 Question Id : 97675510919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The words "socialist and secular" were added to the preamble through which amendment act?
Options :

A. % 44™ Amendment Act, 1978

B. ¢ 42" Amendment Act, 1976

C. # 86" Amendment Act, 2002



D. ¥ 69" Amendment Act, 1991

Question Number : 38 Question Id : 97675510919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QTeg "HSIATET 3R UUfARUS BT f5g I=em i am & ATead ¥ Udra=T | Siel 77T U1
Options :

A. ¥ 44 9 I=YA HfAFTH, 1978

B. ¢ 42 9f GReYA AfHTH, 1976

C. % 86 9f TRNYA AfeTH, 2002

D. % 69 af YN SHAFTH, 1991

Question Number : 39 Question Id : 97675510920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which international cricketer won the ICC Spirit of Cricket Award of the Decade in 20217
Options :

A. # Virat Kohli

B. ¥ Kane Williamson

C. # Rahul Dravid

D. ¢ MS Dhoni

Question Number : 39 Question Id : 97675510920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford SIeRTPTA fobeber = 2021 H 1CC RURE 31t & fEbs febepe 3rars Sitam
Options :

A. % foRTe Pigeh

B. # & faferames

C. * JEA SIS

D. ¥ TH T Yt




Question Number : 40 Question Id : 97675510921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been appointed as the new President of the Asian Cricket Council (ACC) in 2021?
Options :

A. ¥ Jay Shah

B. # Sourav Ganguly

C. # Anurag Thakur

D. #* Shashank Manohar

Question Number : 40 Question Id : 97675510921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 H TR fhdre ufvyg (i) & U siege o =9 H fpd fgad farar mar g2
Options :

A. ¢ SO G

B. % ARd LA

C. # RITSIPR

D. ¥ Q=M% TG
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Question Number : 41 Question Id : 97675510922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the largest fraction of the following fractions.
Options :
17
A% 9

23

27

25
D # 12



Question Number : 41 Question Id : 97675510922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed il & ¥ gad st fia 31d S|

Options :

17
A #® 9

23
27

25
D # 12

Question Number : 42 Question Id : 97675510923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

382 + 60 percent of 1350 — 16 x 28 =?
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

A. 1842

B. 1956

C. 1620

D. 1806

Question Number : 42 Question Id : 97675510923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau U o O Uy g (2) b RIF TR T ST

382 + 1350 T 60 UICTRId — 16 x 28 =2
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

A. 1842

B. 1956

C. 1620

D. 1806

Question Number : 43 Question Id : 97675510924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The H.C.F. of two numbers is 17 and their sum is 119. How many such pairs of number exist?
Options :

A %2

B. ¥ 4

C.¥3

D. # 1

Question Number : 43 Question Id : 97675510924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& st T HeaH JHEIddd 17 3R D1 AT 119 § | TeATef & U fa- g dva g7
Options :

A #2

B. % 4

C.¥3




D. # 1

Question Number : 44 Question Id : 97675510925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

V512 — /1000 + {729 =7
Options :

A. # 15

B.¥7

C. # 11

D. ¥ 10

Question Number : 44 Question Id : 97675510925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g gy o vy g (2) & RIF R 1 HE S
V512 — /1000 + Y729 =7

Options :

A. # 15

B. ¥ 7

C. =11

D. # 10

Question Number : 45 Question Id : 97675510926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number when divided by 308 leaves the remainder 60. Find the remainder when the same number is divided by 28?
Options :

A. % 30



B. ¥ 4
C. = 14
D. = 8

Question Number : 45 Question Id : 97675510926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oTd fopeit TRt Pl 308 F TaUTIoTd foham SITaT 8 ol —Whd 60 Ut il & | ST AT &1 i 28 F fauTiord foram ST ol - a1 T gRm?
Options :

A. # 30

B. ¥ 4

C.* 14

D. # 8

Question Number : 46 Question Id : 97675510927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 5 consecutive multiples of 7 is 28. What is the average of the squares of the first and last terms?
Options :

A. % 920

B. # 940

C. ¥ 980

D. #* 960

Question Number : 46 Question Id : 97675510927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7% 5 it TSl BT ST 28 & | TH 3R 3ifad ue & ol &1 3fivyd fva g2
Options :

A. * 920

B. # 940

C. ¥ 980



D. # 960

Question Number : 47 Question Id : 97675510928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

68 percent of students of a certain class took electrical and 47 percent took electronics. If each student took at least one subject i.e. either
electrical or electronics and 21 took both, then find the total number of students in the class.

Options :
A. ¥ 140
B. # 70
C. %75
D. # 105

Question Number : 47 Question Id : 97675510928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP D& P 68 TR B A Saifdcdd 3R 47 UTIRId A Scaci-ad for | afe U B9 $H J &1 U [dug ddl g I a1 dl sdfagsd
7 SAGCIHAT 3R 21 T ad &, a1 Hef H 5 ST B W fbd-l 82

Options :

A. ¥ 140

B. ¥ 70

C. %75

D. # 105

Question Number : 48 Question Id : 97675510929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

60 percent of the smaller number is 16 less than 40 percent of the larger number. If the sum of two numbers is 120, what is the difference
between the larger number and the smaller number?

Options :
A. ¥ 56
B. # 88



C. ® 32
D. # 48

Question Number : 48 Question Id : 97675510929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS BICT YBHT BT 60 U, Th S! YBAT P 40 UAA J 16 HH g | Al T ST BT IR 120 B, ol TST WAT 3R B I H 3R
T E?

Options :

A. ¥ 56

B. % 88

C. =32

D. # 48

Question Number : 49 Question Id : 97675510930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selling an item at 5/6th of its marked price incurred a loss of 10 percent. What is the percentage of profit/loss, if a discount of 5 percent is offered
on the marked price on the same item?

Options :

A. * 3 percent loss

B. ¥ 2.6 percent profit
C. # 2.6 percent loss

D. # 3 percent profit

Question Number : 49 Question Id : 97675510930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH a¥q &1 P! Hfded T & (5/6) BT R a9 TR 10 Ufa<rd &1 g1 gt 81 afe I3t axg & sifdrd e W 5 ufawrd &1 ge < St 8
a Ar/gT 1 ufdRrd fpder g

Options :

A. % 37faerd g1



B. ¥ 2.6 Ufa=Id @H
C. % 2.6 Ufa=d 811
D. ¥ 3 Ufaerd oy

Question Number : 50 Question Id : 97675510931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person decided to distribute 1260 coins among his three sons, A, B and C in the ratio of 2:3:4, respectively but mistakenly, he distributed the
coins in the ratio of 2:3:x, respectively and thus C got 200 coins less than he was supposed to receive. Find the value of x.

Options :
A %1
B. ¥ 2
C.=3
D. % 4

Question Number : 50 Question Id : 97675510931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fad 3 30 dF Tl A, B 3R ¢ & &9 1260 Riden! &I HHRT: 2:3:4 & U A [FaRkd &3 &1 Baar forar, dfde Tad ¥ 399

mﬁaﬁmﬂ: 2:3:x o 3UTA | faaid &R 3T 3R 39 aRE ¢ &1 3 gl § 200 e &4 firad 8, S 38 e ard 81 x &1 34H I
I

Options :

A * 1

B. ¥ 2

C.*3

D. * 4

Question Number : 51 Question Id : 97675510932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio of present ages of P and Q is 3:5. After 7 years, Q's age will be 42 years. What will be P's age after § years?
Options :



A. * 34 years
B. * 21 years
C. ¥ 29 years
D. * 35 years

Question Number : 51 Question Id : 97675510932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R Q HI I AT HT U 3:5 81 7 TN §IG, Q B AT 42 8 & AWM | 8 TN §TG P Bt 1Y fara-t gA2
Options :

A %3479

B. % 21 q9

C.¥29qy

D. % 3599

Question Number : 52 Question Id : 97675510933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum was given at simple interest at a certain rate for 3 years. Had it been given at 2 percent higher rate, it would have fetched Rs.366 more.
Find the sum.

Options :

A. * Rs.6000
B. # Rs.7200
C. ¥ Rs.6100
D. # Rs.6600

Question Number : 52 Question Id : 97675510933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U YRR I 3 98 P ol qTeRor surel 1 ax O IR fear mar ot afe 53 2 ufawrd $ifdies v iR feum T gian, af S99 366 T 31
T Bid | 4RI 1d o

Options :



A. ® 6000 TTY
B. # 7200 ®UY
C. ¥ 6100 ®qY
D. # 6600 ¥0Y

Question Number : 53 Question Id : 97675510934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio between the speed of truck, car and train is 6:7:9. The car moves uniformly and covered a distance of 308 km. in 11 hr. What is the
average speed of truck and the train together for same time?

Options :

A. # 45 kmph
B. ¥ 30 kmph
C. # 36 kmph
D. # 24 kmph

Question Number : 53 Question Id : 97675510934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TH, PR 3R ¢4 DI T11a & o1F BT 30T 6: 7: 9 81 PR Fgd 1 T Fardh g 3R 11 69 H 308 ft Bt g T BT |1 Th 3R ¢ B
T 9 & foTY T W1y 37d a1 T 82

Options :

A. # 45 kmph

B. ¥ 30 kmph

C. # 36 kmph

D. # 24 kmph

Question Number : 54 Question Id : 97675510935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lokesh covers 60 kms in 10 hrs partly by bus and partly by car. Bus travels at 3 km/h and car at 7 km/h, find the distance travelled by bus.
Options :



A. # 7km
B. # 8 km
C.¥ 75km
D. * 8.5 km

Question Number : 54 Question Id : 97675510935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 60 foramier @1 g8 T& 99 gRT 3R $S R gRT 10 B W 00 Ha1 5 | 59 3 fpfi/der o1 1fa J amn St § 3R &R 7 fsrfider
1 T T AT BT |, T GRT T Bl T8 gl 1d DIfoTg |

Options :

A. % 7 o0t

B. % g fooril

C. ¥ 7.5 fobdl

D. # 8.5 fobdt

Question Number : 55 Question Id : 97675510936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arun can do a work in 15 days. After working for 3 days he is joined by Ritesh. If they complete the remaining work in 3 more days, in how
many days can Ritesh alone complete the whole work?

Options :
A %4
B. ® 6
C.¥5
D. ® 7

Question Number : 55 Question Id : 97675510936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31307 15 fel B U 1 & W HR Gl ¢ | 3 Tel T &0 H1 & d18 9P A1y a1 2nfiya g1 w1 afe 3 AW | &1 3 tfaied il
T R 8, A fba famt & Rawr 3/t 1A 1 IRT R Yebell 32




Options :
A. %4
B. %6
C.¥5
D. # 7

Question Number : 56 Question Id : 97675510937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The height of an equilateral triangle is 6V3 cm. What is the area of the square whose perimeter is equal to that of the triangle?
Options :

A % 63 cm?
B # 72 cm’
Cc. ® 60cm?
D. ¢ 81 cm?

Question Number : 56 Question Id : 97675510937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP JHATE AYS B! TS 6V3 T § 1 3 o BT &Ahd o1 g1 foreyenT aRATY s & UiATT & SReR 82

Options :

A % 63 TR
B % 72 3R
c % 60T



D« 81 TR

Question Number : 57 Question Id : 97675510938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the radius of the base of a cylinder is tripled then the volume of the new cylinder is 200 percent more than the volume of the original cylinder.
What is percentage increase or decrease of the height of the new cylinder?

Options :

A. * 77.77 percent
B. ¥ 66.67 percent
C. # 50 percent
D. # 37.5 percent

Question Number : 57 Question Id : 97675510938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Th S & SMYR B AT R T S ot -TU 9T BT ST, Ja 9T & S § 200 Wia=id e g1 a1 g | ¢ §a &1
& | ufawrd gia/adt feant g8 82

Options :

A. % 77.77 Ufa=rd

B. ¥ 66.67 Ufa=Id

C. ¥ 50 gfa=rd

D. ¥ 37.5 gfa=rd

Question Number : 58 Question Id : 97675510939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following table carefully and answer the question based on it.

Slum population as percent of total population in 2011



City A B
Total Population
(in lakh)

Slum Population
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5% | 26% | 24% | 20% | 15%

(in Percentage)

What was the total slum population in the year 2011 of city A (approximately)?
Options :

A. # 31 lakh

B. ¥ 35 lakh

C. # 32 lakh

D. * 34 lakh

Question Number : 58 Question Id : 97675510939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. %31 TG

B. ¥ 35 @G

C. % 32 WG



D. * 344

Question Number : 59 Question Id : 97675510940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following table carefully and answer the question based on it.

Slum population as percent of total population in 2011

City A|lB|lc|DpD| E|F| e
Total Population | o | 5 4| 704 | 648 | 483 | 282|222
(in lakh)

Stum Population | 440, | 350, | 259% | 26% | 24% | 20% | 15%
(in Percentage)

The difference in the slum population of city G and city F in the year 2011 was:
Options :

A. % 1.40 lakh

B. ® 1.70 lakh

C. # 1.50 lakh

D. ¥ 2.31 lakh

Question Number : 59 Question Id : 97675510940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g dTfeTeT 1 & T Ugh 3P YR WR Y Y &1 IR ST
2011 H ol SRS o Ufa=Id & =0 T A7 Si=eiRed
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5 876 | 784 | 724 | 648 | 483 | 282|222
(FTET #H)
ATATT FATEAT

40% | 32%

25% | 26% | 24% | 20% | 13%

SIGEIGED

¥ 2011 H UG G TF WEX F B AT SRS & S iR fam uro
Options :

A. % 1.40 TG

B. ¥ 1.70 A9

C. % 1.50 @

D. ¢ 231 A G

Question Number : 60 Question Id : 97675510941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given line chart shows the expenditure and savings (in Rs.) of Arvind in different months.

Note: Income = Expenditure + Savings



5000
4500
4000
3300
3000
2300 -
2000
1500
1000

200

January February March April May
==g=Expenditure (Rs)) =jll=Saving (Rs)

Find the average of the income of Arvind in February, March and May taken together.
Options :

A. ¥ Rs.6600

B. # Rs.6200

C. ¥ Rs.5800

D. ¥ Rs.6800

Question Number : 60 Question Id : 97675510941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fear ar YT s, fafts el § sRfde & ooy Sik s9d (JUT §) 3 giar g

Ae: AT =T + §9d
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General English
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Question Number : 61 Question Id : 97675510942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

A. # In a post on microblogging site Twitter, the bank said that the fraudsters has found new ways to dupe people.

B. # The customers get calls from the scamsters to share its OTP in order to postpone their loan EMISs.

C. ¥ For those unaware, banks are offering grace period for their customers to skip loan EMI payments till June 2020.

D. # This comes in the wake of loan repayment moratorium announced to the Reserve Bank of India last month due to the lockdown.

Question Number : 61 Question Id : 97675510942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :



A. # In a post on microblogging site Twitter, the bank said that the fraudsters has found new ways to dupe people.
B. # The customers get calls from the scamsters to share its OTP in order to postpone their loan EMIs.
C. ¥ For those unaware, banks are offering grace period for their customers to skip loan EMI payments till June 2020.

D. # This comes in the wake of loan repayment moratorium announced to the Reserve Bank of India last month due to the lockdown.

Question Number : 62 Question Id : 97675510943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

He wasn’t just unconsiderate he was downright rude.
Options :

A. % He wasn’t

B. ¥ just unconsiderate

C. # he was downright rude.

D. # No error

Question Number : 62 Question Id : 97675510943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

He wasn’t just unconsiderate he was downright rude.
Options :

A. % He wasn’t

B. ¢ just unconsiderate

C. # he was downright rude.

D. # No error

Question Number : 63 Question Id : 97675510944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No



substitution required'.

Pancake Day is actually another name for Shrove Tuesday, which is taking place 40 days before Easter Sunday and marks the start of Lent."
Options :

A. * was taking place

B. ¥ takes place

C. * took place

D. * No substitution required

Question Number : 63 Question Id : 97675510944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

Pancake Day is actually another name for Shrove Tuesday, which is taking place 40 days before Easter Sunday and marks the start of Lent."
Options :

A. #* was taking place

B. ¢ takes place

C. # took place

D. #¥ No substitution required

Question Number : 64 Question Id : 97675510945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select "No
substitution required'.

A chartered flight is being arranged to fly back Indians on board the cruise ship off the Japan coast.
Options :

A. #* arranged

B. # is arranging

C. * being arranged

D. ¥ No substitution required



Question Number : 64 Question Id : 97675510945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

A chartered flight is being arranged to fly back Indians on board the cruise ship off the Japan coast.
Options :

A. * arranged

B. * is arranging

C. * being arranged

D. ¥ No substitution required

Question Number : 65 Question Id : 97675510946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It is as difficult for us to understand adolescents it is for them to understand us.
Options :

A. ¥ ag

B. # for

C. # but

D. # and

Question Number : 65 Question Id : 97675510946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It is as difficult for us to understand adolescents it is for them to understand us.
Options :



A. ¥ as

B. # for
C. # but
D. # and

Question Number : 66 Question Id : 97675510947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Canada has once again extended travel to foreign travellers till October 31, i.e., until Halloween.
Options :

A. # stipulation

B. ¥ restrictions

C. # expansion

D. *# regulation

Question Number : 66 Question Id : 97675510947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Canada has once again extended travel to foreign travellers till October 31, i.e., until Halloween.
Options :

A. * stipulation

B. ¥ restrictions

C. # expansion

D. # regulation

Question Number : 67 Question Id : 97675510948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.



P. You can apply fresh mint juice over your face every single night to get clear skin.

Q. This is one reason why so many women out there are always on a lookout for remedies for a clear skin.
R. Your skin starts to age sooner than any other body parts.

S. Pollution and an unhealthy diet can make your skin lose its glow.

Options :

A. # RQPS
B. ¥ SRQP
C. # QPSR
D. # PSRQ

Question Number : 67 Question Id : 97675510948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. You can apply fresh mint juice over your face every single night to get clear skin.

Q. This is one reason why so many women out there are always on a lookout for remedies for a clear skin.
R. Your skin starts to age sooner than any other body parts.

S. Pollution and an unhealthy diet can make your skin lose its glow.

Options :

A. # RQPS
B. ¥ SRQP
C. # QPSR
D. # PSRQ

Question Number : 68 Question Id : 97675510949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. The Rubik’s cube was invented in the *70s, by Erno Rubik.
P. He had studied sculpture and architecture at the same university.
Q. He soon realized the object was a handy tool for teaching algebraic group theory and spatial relations.



R. Rubik’s own first attempt to solve the cube took a month.
S. He was a Hungarian professor of design at the Academy of Applied Arts and Design.
6. Not to mention, it was a marvel of structural design.

Options :

A. %# SRQP
B. ¥ SPRQ
C. % PSQR
D. * PQRS

Question Number : 68 Question Id : 97675510949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. The Rubik’s cube was invented in the *70s, by Erno Rubik.

P. He had studied sculpture and architecture at the same university.

Q. He soon realized the object was a handy tool for teaching algebraic group theory and spatial relations.
R. Rubik’s own first attempt to solve the cube took a month.

S. He was a Hungarian professor of design at the Academy of Applied Arts and Design.

6. Not to mention, it was a marvel of structural design.

Options :

A. % SRQP
B. ¥ SPRQ
C. # PSQR
D. # PQRS

Question Number : 69 Question Id : 97675510950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

QUARANTINE

Options :
A. * Integrate



B. ¥ Combine
C. # Desegregate
D. ¥ Restrain

Question Number : 69 Question Id : 97675510950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

QUARANTINE
Options :

A. ¥ Integrate
B. # Combine
C. # Desegregate
D. # Restrain

Question Number : 70 Question Id : 97675510951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

ORPHANED
Options :
A. #* Rob
B. # Strip
C. ¥ Parented
D. * Deprive

Question Number : 70 Question Id : 97675510951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.



ORPHANED
Options :
A. #* Rob
B. # Strip
C. ¥ Parented
D. # Deprive

Question Number : 71 Question Id : 97675510952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

A. ¥ Enraptured

B. # Enreptured

C. # Anraptured

D. # Anreptured

Question Number : 71 Question Id : 97675510952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

A. ¥ Enraptured

B. # Enreptured

C. # Anraptured

D. # Anreptured

Question Number : 72 Question Id : 97675510953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.
Options :



A. ¥ QOccassion
B. # Occurrence
C. #* Opinion

D. # Opportunity

Question Number : 72 Question Id : 97675510953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

A. ¥ Occassion

B. # Occurrence

C. # Opinion

D. # Opportunity

Question Number : 73 Question Id : 97675510954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Let someone off the hook
Options :

A. # its too late for escape

B. # doing a good job

C. ¥ let off from blame or trouble

D. #* to hold someone responsible for something

Question Number : 73 Question Id : 97675510954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Let someone off the hook



Options :

A. # its too late for escape

B. # doing a good job

C. ¥ let off from blame or trouble

D. #* to hold someone responsible for something

Question Number : 74 Question Id : 97675510955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative which best expresses the meaning of the idiom/phrase bold in the sentence.

His statement is out-and-out a lie.
Options :

A. ¥ Totally

B. # Simply

C. #® Merely

D. # Slightly

Question Number : 74 Question Id : 97675510955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative which best expresses the meaning of the idiom/phrase bold in the sentence.

His statement is out-and-out a lie.
Options :

A. ¥ Totally

B. # Simply

C. # Merely

D. * Slightly

Question Number : 75 Question Id : 97675510956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word which means the same as the group of words given.

Science dealing with the transmission and control of disease
Options :

A. ¥ Epidemiology

B. # Ecology

C. # Epistemology

D. * Entomology

Question Number : 75 Question Id : 97675510956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Science dealing with the transmission and control of disease
Options :

A. ¥ Epidemiology

B. # Ecology

C. # Epistemology

D. # Entomology

Sub-Section Number : 2
Sub-Section Id : 976755772
Question Shuffling Allowed : Yes

Question Id : 97675510957 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Isaac Newton was born in Lincolnshire, England in 1643, where he grew up on a farm. When he was a boy, he made lots of brilliant inventions
like a windmill to grind corn, a water clock and a sundial. However, Isaac didn’t get brilliant marks at school. When he was 18, Isaac went to
study at Cambridge University. He was very interested in physics, mathematics and astronomy. But in 1665 the Great Plague, which was a
terrible disease, spread in England, and Cambridge University had to close down. Isaac returned home to the farm. Isaac continued studying and
experimenting at home. One day he was drinking a cup of tea in the garden. He saw an apple fall from a tree. ‘Why do apples fall down instead



of up?’ From this, he formed the theory of gravity. Gravity is an invisible force which pulls objects towards the Earth and keeps the planets
moving around the Sun.

Isaac was fascinated by light. He discovered that white light is in fact made up of all the colours of the rainbow. Isaac also invented a special
reflecting telescope, using mirrors. It was much more powerful than other telescopes. Isaac made another very important discovery, which he
called his ‘Three Laws of Motion’. These laws explain how objects move. Isaac’s laws are still used today for sending rockets into space. Thanks
to his discoveries, Isaac became rich and famous. However, he had a bad temper and often argued with other scientists. “You stole my discovery!’
Sir Isaac Newton died in 1727 aged 85. He was buried along with English kings and queens in Westminster Abbey in London. He was one of the
greatest scientists and mathematicians who have ever lived.

Sub questions

Question Number : 76 Question Id : 97675510958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Isaac Newton return home from Cambridge University?
Options :

A. #* because the university denied his admission to its campus
B. # because he cannot afford the expenditure at university

C. # because he was failed in the entrance exam of the university

D. % because the university had to close down as there spread ‘Plague’

Question Number : 77 Question Id : 97675510959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How was the theory of Gravity formed by Newton?
Options :

A. ¥ after seeing an apple falling down instead of going up
B. # after seeing a bird flying in the sky and falling

C. # after throwing some pebbles into sky to fly

D. # after seeing an pineapple not flying in the sky

Question Number : 78 Question Id : 97675510960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is Gravity as described by Newton in the given passage?



Options :

A. % a force that repulses objects and keeps the planets not to collide one another

B. # an invisible force which decides how an object moves in the sky

C. ¥ a force that pulls objects towards earth and keeps the planet moving around the Sun

D. # an invisible force which pushes a rocket to move up into the sky at some angle

Question Number : 79 Question Id : 97675510961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Terrible”?
Options :

A. # dreadful

B. # horrific

C. % appalling

D. ¢ congenial

Question Number : 80 Question Id : 97675510962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?
Options :

A. % Isaac Newton had a bad temper and he often urged with other scientists.
B. ¥ Isaac Newton went to study at Cambridge University, in England in 1665.
C. # Isaac Newton also invented a special reflecting telescope, using mirrors.

D. # When he was a boy, he invented a windmill to grind corn and a water clock.

Question Id : 97675510957 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Isaac Newton was born in Lincolnshire, England in 1643, where he grew up on a farm. When he was a boy, he made lots of brilliant inventions
like a windmill to grind corn, a water clock and a sundial. However, Isaac didn’t get brilliant marks at school. When he was 18, Isaac went to



study at Cambridge University. He was very interested in physics, mathematics and astronomy. But in 1665 the Great Plague, which was a
terrible disease, spread in England, and Cambridge University had to close down. Isaac returned home to the farm. Isaac continued studying and
experimenting at home. One day he was drinking a cup of tea in the garden. He saw an apple fall from a tree. “Why do apples fall down instead
of up?’ From this, he formed the theory of gravity. Gravity is an invisible force which pulls objects towards the Earth and keeps the planets
moving around the Sun.

Isaac was fascinated by light. He discovered that white light is in fact made up of all the colours of the rainbow. Isaac also invented a special
reflecting telescope, using mirrors. It was much more powerful than other telescopes. Isaac made another very important discovery, which he
called his ‘Three Laws of Motion’. These laws explain how objects move. Isaac’s laws are still used today for sending rockets into space. Thanks
to his discoveries, Isaac became rich and famous. However, he had a bad temper and often argued with other scientists. “You stole my discovery!’
Sir Isaac Newton died in 1727 aged 85. He was buried along with English kings and queens in Westminster Abbey in London. He was one of the
greatest scientists and mathematicians who have ever lived.

Sub questions

Question Number : 76 Question Id : 97675510958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Isaac Newton return home from Cambridge University?
Options :

A. # because the university denied his admission to its campus
B. #* because he cannot afford the expenditure at university

C. * because he was failed in the entrance exam of the university

D. # because the university had to close down as there spread ‘Plague’

Question Number : 77 Question Id : 97675510959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How was the theory of Gravity formed by Newton?
Options :

A. ¥ after seeing an apple falling down instead of going up
B. #* after seeing a bird flying in the sky and falling

C. * after throwing some pebbles into sky to fly

D. # after seeing an pineapple not flying in the sky

Question Number : 78 Question Id : 97675510960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is Gravity as described by Newton in the given passage?

Options :

A. % a force that repulses objects and keeps the planets not to collide one another

B. # an invisible force which decides how an object moves in the sky

C. ¥ a force that pulls objects towards earth and keeps the planet moving around the Sun

D. # an invisible force which pushes a rocket to move up into the sky at some angle

Question Number : 79 Question Id : 97675510961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Terrible”?
Options :

A. # dreadful

B. # horrific

C. % appalling

D. ¢ congenial

Question Number : 80 Question Id : 97675510962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?
Options :

A. % Isaac Newton had a bad temper and he often urged with other scientists.
B. ¥ Isaac Newton went to study at Cambridge University, in England in 1665.
C. # Isaac Newton also invented a special reflecting telescope, using mirrors.

D. ¥ When he was a boy, he invented a windmill to grind corn and a water clock.
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Question Number : 81 Question Id : 97675510963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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C. ¥ HHYRY A
D. ¥ g JaNy



Question Number : 81 Question Id : 97675510963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfaRad o ¥ "HIcifE H SH-91 9919 87
Options :

A. % 3fogUiHTd JHTY

B. % fg7 94U

C. ¥ HHYRY THN

D. # gg JAY

Question Number : 82 Question Id : 97675510964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frferRad # @ had Wsq T I9 HIfSTL-
Options :

A% Uy

B. ¥ g

C. % 3HAT

D. * Hidd

Question Number : 82 Question Id : 97675510964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR § & dagd RTeq T 0 HIfSTT-
Options :

A = QY

B. ¥ g

C. % 3Hm

D. % Hidd




Question Number : 83 Question Id : 97675510965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafed & @ 19-97 Weg Uy &7 YN 6 ST 471 82
Options :

A. ¥ TSI

B. ® &

C. % guguf

D. * Uyl

Question Number : 83 Question Id : 97675510965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfIfRd o O P9-91 e TTT T FANT B ST 747 22

Options :

A. ¥ TG
B. % &g

C. % gul

D. # U4y

Question Number : 84 Question Id : 97675510966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=ffad § § HH-91 Wsg AegH YIyare qa g2
Options :

A ®H

B. # &H

C. % dg

D. ¥ dH

Question Number : 84 Question Id : 97675510966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f=ffad § § HH-91 Wsg AegH YSyare qa-H g2
Options :

A & H

B. % gH

C. % dg

D. ¥ qH

Question Number : 85 Question Id : 97675510967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PR 3 @ -1 5 " $Fu B TafaaTd g
Options :

A. % Y

B. ¥ S

C. v |

D. ¥ TdyUl

Question Number : 85 Question Id : 97675510967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad §  S1H-91 g "3Fu &1 TaigarE! e 82
Options :

A. % MY

B. ¥ W9

C. v |

D. ¥ TqyU[

Question Number : 86 Question Id : 97675510968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fAEfRed & @ S1fg aci-l aTel Xed b1 I BifoTT-
Options :

A. ¢ TUpdy

B. # AHdhd

C. ® 3ffgdra

D. ¥ TSI

Question Number : 86 Question Id : 97675510968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=R o ¥ 3RS adH aTel Ueg &1 T BIfor-
Options :

A. ¢ TUsdy

B. ® 3{HdWhd

C. ® 3Jfgd

D. ¥ WEHRUI

Question Number : 87 Question Id : 97675510969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFAfRad o ¥ "dicqd &1 f9dm <eg ®F-91 52
Options :

A. ® PHcd

B. ¥ dRdideh

C. ¥ HATIgd

D. % Wil

Question Number : 87 Question Id : 97675510969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



freferad @ O rwictd” &1 faay 2reg HIH-91 52
Options :

A. ® Hch

B. ¥ dRdfdd

C. ® T¢d

D. ® ol

Question Number : 88 Question Id : 97675510970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T TR & foTT Ueh XMeg T T BT

1Y T el well-
Options :

A. % Ffgar

B. # foem

C. ¥ gl

D. ® gfdar

Question Number : 88 Question Id : 97675510970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTeRIieT o foTT U Xeq BT =TT HITTT-

1Y I aTcl -
Options :

A. ® gfgar

B. # faem

C. ¥ gl

D. % gfdar



Question Number : 89 Question Id : 97675510971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fmforiRad # ¥ 3R adH! dTdt aTed BT 99 Pifore-
Options :

A. ¢ TUSHT ITHH IRIE5d g

B. % 3 QP P 791 YIHU] UHIRId 81 XeT |

C. * g PRI T I B |

D. ¥ SRR YD Y- [AYTa1 5|

Question Number : 89 Question Id : 97675510971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o § 3RS ad ardl aTgd &1 99+ Biford-
Options :

A. ¢ 3TUDHT G YRI5 d 6|

B. % I T P 791 YIHU] U2 81 el & |

C. % NS BRI T TS B |

D. ¥ 3R YaHI Y- AU 3|

Question Number : 90 Question Id : 97675510972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FfRad & 9 T 2Tea &1 997 Hifert-
Options :

A. ® FlcDh

B. ¥ Gl

C. % UgH

D. % ¢t

Question Number : 90 Question Id : 97675510972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAEforRad | O Wifei Wsg &1 994 PifoTe-
Options :

A. % dlCH

B. ¢ dXISl

C. % ygHq

D. ® ¢l

Question Number : 91 Question Id : 97675510973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfafad ¥ @ 919 & TSR &1 999 BHIfoTe-

gl el g 3l& gl
Options :

A. % RIAES I
B. ¥ fayMara® ar|
C. % Jggdrad I

D. ¢ fawmifediys arey

Question Number : 91 Question Id : 97675510973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfafad # @ 91 & TSR &1 IU BHIfoTe-

glel ! gd 3l® gl
Options :

A. ¥ IIAEID dId

B. % [qyara® dreg
C. % Tqgdrdd aId

D. ¢ fawaiieaiy® o



Question Number : 92 Question Id : 97675510974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & T ared | f 1 3 ford SRS &1 IQ6R01 62

& R & e
Options :

A. % Hd PR®

B. ¥ ©&H HR&

C. ¥ PR HRD

D. ¥ 3(UTGH RbB

Question Number : 92 Question Id : 97675510974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= feu ¢ a1 # e 1 O {5 RS 1 IR 82
& A Ry ! e

Options :

A. ® Hdl HRS
B. ¥ U HR&

C. % DU hRD
D. # 3{UlgqH dRDH

Question Number : 93 Question Id : 97675510975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRad o & HeTaRT "HaeT U I I ST &1 1 34 82
Options :

A. % §gd TUR SO g

B. * oI Lrifdl fem|




C. ¥ SIS
D. % WeT g1 urde Afad|

Question Number : 93 Question Id : 97675510975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffoRad o 9 HgTerT "dHalol 4 I g ST &1 T 31 82
Options :

A. % §gd TUR JHR g

B. % T DI 2ifcl |

C. ¥ SI ST

D. % WieT g1 °UTdeh Afdd |

Question Number : 94 Question Id : 97675510976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAferad # @ aeifaa 30T 81U ST=TTy o1 ot 31 82
Options :

A. % RIS g0 I TGP ad 3BT e 8|

B. ¥ 3fohell iad $© Ul 6! R bl

C. ¥ SR HT TR

D. ¥ WY &1 BT WY BT ST I g

Question Number : 94 Question Id : 97675510976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRad o @ Aeifad ST 8Ty SRy &1 37 372 g2
Options :

A. * RS 501 Q NG d BT E1 2|

B. ¥ 3ol Afdd $& I T8! B Fehd|

C. % JUBR B TR




D. ¢ W94 &1 BRI TG BT 33T 8l o |

Question Number : 95 Question Id : 97675510977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fou e are § S99 g &1 wanT fsar man g2
HolgR UReH ol 8, Qe a1y goiufd HATAT ] |

Options :

A. % IIIRTH UT 3rsforTd g
B. ¥ 3R Ud YuifR™ g

C. % QUIfaRT Ud Sf&iar™ g

D. % JIoleh oxH Ud guifaR™ g

Question Number : 95 Question Id : 97675510977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 feu 7T gt & -3 fas &1 uan fear mn g2

AoIgR UReH HdT §, Qe oy Yoiafd &4 g |
Options :

A. ® 3cUfdRH TG 3G a7

B. ¢ 3Ufa{ Td YuUifoR™ g

C. * quifoR™ U4 sfsfarm forg

D. ¥ Yol R Ud guifarR™ forg

Sub-Section Number : 2
Sub-Section Id : 976755774
Question Shuffling Allowed : Yes

Question Id : 97675510978 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)



TR IR T AT YD SER HR YA & IR alford-

it & AT § ues ST 9 SR SR S &1 GRTeH 8T 8 | Xl & Hd SUTeH al Urg: Jft gaed SR 937 =i &1 U I
% THT X84 g, [ STe0 SUTGHI H iR 3=y 3TdT ¢ | A T S Wbl 1 Tay 981 ANGH Tal ¢ fob a8 8 3T IS i
IRICRT ¥ T 1 &, SO -1 & Auer ¥ fafes= =61 8 ol ¢ | 31191 & i 5 I UG oo Ixpfadl o e & SfauR sifd
A 81 TTU g, Tepiad &1 urReRe Juy off 3= 81 a1 8 | $ U fadeh uure gAR ¥ W US 8 8,/Fd siide § g6 W U W ia
& Ul SR &1 a1 § | SHRY ST &7 ol 81 98 AR daRes galdidl &1 el ¢ | 31U TXpld ol BlS [ Wil & faddbg
3IHRUT Y BHR AT 7RG DI Sl 3 Ugd gl &, 98 [l ICUH S adfad 9 ft 78t g | WRdTg TR i H 1T 3R UgUI &1 3igHd
&G § 1 31d: 31N & AT g1 gH fpft ot fac=h Tl & Siidd dwl ) 7801 - Hf Ui et Yg1 a1, fapeg 1ot wiepfas
fAfY Pt I0ef R T | T8 WG I P TIRAT P 3T 718! & | Tg RO 3G AT o I 1 satepvreria fwoll § 1) &1 =g
Rt Sharifa i, g ot STl 3R o oSt 3 foeTT 1S Grern ST et T8 Taval B SATST SHHRUI, ST 1 8 Ui 2

Sub questions

Question Number : 96 Question Id : 97675510979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoRad & @ Sufad TR &1 Ifrd RS DF-1 62
Options :

A. % TRl G¥Hid BT bRl

B. ¥ I¥hid B Hgd |

C. % Ypfd & d IUTGH|

D. % T&Pid & 91T IUIGH|

Question Number : 97 Question Id : 97675510980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad T & IR, 89 Rl Wpia & Hedyui adl &l T80l &R 9dhd §, Hiid
Options :

A. ¢ YRATG TP H AR 3R TG0 & Sgyd &1 a1 |

B. % faa=h Tpfa, YRdg TPpfa I 1T <1 & g anvee g

C. % YR Ypid ¥ <= BT W SH-Sia gSIHIfad 81 @7 g |

D. % IOy & 1Y fAft= =0 Bt Axepfaa &1 7gur w1 faeft ifa & forg sifard grar g1




Question Number : 98 Question Id : 97675510981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iuded T § Tge B TS <eg Td el Wea ) WSS Bl FhH BHIT-
Options :

A. % SIHUI TG S

B. % §epfl ud wiepfie

C. % 3qyd T 3ffgdig

D. ¥ T T4 T5

Question Number : 99 Question Id : 97675510982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUe TR & IR, AT U1 S FEpid b1 Jod ST INTe Te) 8, & a8 ga
Options :

A. ¢ 3T IR DI TRART F YT §1 ¢ |

B. % 30 I P TRART &I fadpd Hl 7

C. % YA B [AdDH - URERT B ST 6 |

D. * fae=h I & RERT § T S g

Question Number : 100 Question Id : 97675510983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR H TR o T R1eg; <R 1 Fefared § 3 o o g2
Options :

A. ® Tt ot safad ot a1l ol Ta qag- are|

B. % 30! &1dl &l ORI Y g ar|

C. ¢ §1d 91d H Ydg HRAara|

D. * gaif¥ie HIY B aTel A |

Question Id : 97675510978 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (96 to 100)

=TT I FT AT gD S B U=AT B IR Glord-

Tt & AT § U 1 9@ o1 SR S &1 GRTeH 81 ¢ | Xpid & Hd SUTeH al Urg: 9 evpd SR 919 =i &1 T I
d% A I8d 8, foheg a1 SUTGH! # SiaR A=y AT § | KT T ST WGP DT I 98T TN el § [ 98 §H 30 A Bt
RIURT ¥ g ST 8, 3T -1 & Tuer § fafes= 7181 8 ol 51 ST & 71 8 IR Ud Sfad Seapsiadl o e & SawR sifd
A 81 TTU B, Tepiad &1 UReRe® gy off I 81 a1 8 | $9 T facef uvme §9R S8 R US 38 8,5F b siide § 89 W 3o Wi
& Ul F=AT &1 a1 § | SHRY ST &7 ol 81 98 §HRI d<Res geleldl &1 el & | 31 Tpid ol BIS fai Wepial & fadebgi
3{IHRUN Y BHR KT R PI S 39 Ugd W@ 8, I8 faait AU SRedh aafad o fvdh 78t § | URdTa Teapfa & @ 3R U801 &t 3rgyd
&G § 1 31d: 31T & A g1 H gH fpaft +ft fac=h Tl & Sidd dwl ) 7501 o H Uiy Y Xg1 a1, fareg 1ot wiepfass
A Pt I0ef R T | T8 WG I P TRHT P ST -Te! & | T§ RO G A1eT o I o1 et vreria-t favol & o) &1 g
Rrat sitamrarfa e, g St STef SR St TSt & foeT 1S e ST 21 T8 apal | SfdaY Srgaul, S &1 8 Tafa 2|

Sub questions

Question Number : 96 Question Id : 97675510979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iRy o ¥ Swfad TR &1 3fad S SF-1 62
Options :

A. * facxi TEpfd BT 3Dl

B. ¥ TIpHid & HEd |

C. % UPld & gd SUGH|

D. % I¥pid & dgd IUIGH|

Question Number : 97 Question Id : 97675510980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUdad TR & TR, B9 faeht Wi & Heayul Il & T80 o Udhd 8, Fifeh
Options :

A. ¢ YR TP T AT 3R T U &1 SgYd &1 a1 ¢ |

B. ¥ fac=h Weld, URW APl I STeT &R & [l aTHEI® g

C. % YR Ypid T T BT Y SH-Sha goIHIfad 81 T8 |

D. * THg & A1y faft=1 320 &) W ol &1 7gur = fach fifa & forg sifard giar j




Question Number : 98 Question Id : 97675510981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SuerT TR H e P TS “eg U4 fIeiH Weq BT gl Sie! BT FaT Pifort-
Options :

A. % 3IHI01 TG 3

B. ® I¥hid Ud GiHIdD

C. ® 3qYd Ud sffgcia

D. ¥ T T4 TgUl

Question Number : 99 Question Id : 97675510982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T & TR, AT IT I GIpd BT T 91 GG Tg1 8, fob a8 g4
Options :

A. ¢ 3T I Pt URERT Y JYad §1 & |

B. % 30 I B IRART DI [dghd Hci 5|

C. % 3T IS¢ P faddhald URERT & 3T g |

D. * fae=M I & RERT Y T S g

Question Number : 100 Question Id : 97675510983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudad T B yged fasa T Wes <HRATg” o7 FEfead | O @ o g2
Options :

A. % Tt ot sfad &t a1l 1 TRa g aTell|

B. % (U §Tdl ol ORI Y Hed drell|

C. ¢ §1d §1d ¥ g HR-ard|

D. % gaifdp by HI dTal Hfad |
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Question Number : 101 Question Id : 97675510984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The urban formal sector consists of activities carried out by
Options :

A. # The corporate enterprises

B. # Central Government



C. #¥ Central Government, State Government and Local levels

D. ¢ The corporate enterprises, Central Government, State Government and Local level bodies

Question Number : 101 Question Id : 97675510984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TR &7 | GRT &1 oI arelt mfafafeat wfa g
Options :

A. ® HIURE IgH

B. ¥ g WHR

C. % &g WHR, AT WHR 3R WY TR

D. ¢ HIURCE IgH, g TWHR, Iod TWHR MR WHIT TR [

Question Number : 102 Question Id : 97675510985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following categories of factories (considering labor law) belong to registered manufacturing sector?
Options :

A. # factories employing 10 or more (or less than 10) workers, and using power only, in the reference year.

B. # factories employing 20 or more (or less than 20 workers without power), in the reference year only.

C. ¥ factories employing 10 or more (or less than 10) workers, and using power, or employing 20 or more (or less than 20 workers without
power), in the reference year.

D. # factories employing 10 or more workers, and using power, or employing 20 or more without power, in the reference year only.

Question Number : 102 Question Id : 97675510985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed 7 3 o 9uft & FRE™ Yol fAfRmTo &5 (3 BT & dgd) I Tafid 82

Options :

A. ® MYR T T 10 T1 TAF (T 10 T HH) 4D B I H3 arelt 3R Had foolel! o7 START o34 arelt hiaedt
B. ¥ dd YR a8 H 20 TT TS (@7 a7 faeTeit & 20 ¥ HH 41 B AR ¢ A HREH



C. ¢ MYR TN I 10 AT AP (AT 10 W HH) YD BT ASHIR & aret iR faoTelt BT ST B aTelt, T1 20 T 3Hfees (@1 fomr fasten & 20
T HH YD) B AR ¢ Tl PRI,

Pm:aﬁa waﬁmfﬁ 10 T7 AHTYH YpT D1 PRSI B aTelt 3R foroTelt T IUTNT B aTetl, a1 =1 fasTeit 3 20 AT 31fdes &Y g

S

Question Number : 103 Question Id : 97675510986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors helped public sectors to discriminate against small and favoured capital intensive, large scale establishments in
the 1980s?

Options :

A. ¥ Protection, investment incentives, credit control and promotion.
B. # Protection, and promotion

C. # Protection, investment incentives, and promotion

D. # Protection, investment incentives and credit control

Question Number : 103 Question Id : 97675510986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬂ@ﬁﬁﬁ%mﬁﬁwso%q&mﬁw%ﬁw &= B B 3R UIEIeT Yoht T8, 73 UM & Uiy & Raems Heurd & o
Haq PI?

Options :

A. ¢ TR0, A= dieTeH, 30T FE=0m ok e |

B. ¥ TREUT 3R HagA

C. % TR, Fa TieTe, $iR ugrafd

D. % TR, a1 diere iR T feiur

Question Number : 104 Question Id : 97675510987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prime Minister’s Integrated Urban Poverty Eradication Programme (PMIUPEP) was launched during 1995-96 with the specific objectives. Which
of the following were they?



Options :
A. ¥ community empowerment, employment generation only
B. ¥ achievement of social sector goals, community empowerment, employment generation, and skill upgradation, only

C. ¥ achievement of social sector goals, community empowerment, employment generation, and skill upgradation, shelter upgradation and
environmental improvement

D. ¥ community empowerment, employment generation, and skill upgradation only

Question Number : 104 Question Id : 97675510987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy = 1 Thigd W8l TR I wdwd (Fh . g d 2 ) 1995-96 & SR fafiy Il & Wy Y= frar mar e @
frafafed ¥ ®&F-8 &2

Options :

A. % $Had RIS RGBT, ASHIR Joi- |

B. % SHad THINS & & T4l &1 Judfe, YIS TRTGIHRUT, ISR Jor, 3R ST AT |

C. ¥ IS & & A& B IUdied, UG ARGl JASHTR Goid, DI ST, ST ITT 3R TR0 GUR |

D. ¥ FHad UaI% GBI, AR Joi, 3R S ST |

Question Number : 105 Question Id : 97675510988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true?

Options :

A. ¢ The formal organised sector uses capital-intensive technologies and imported technology while the unorganised sector uses mainly labour
intensive and indigenous technology.

B. # The formal organised sector uses capital-intensive technologies and indigenous technology while the unorganised sector uses mainly labour
intensive technology.

C. # The formal organised sector uses imported technology while the unorganised sector uses mainly capital intensive and indigenous
technology.

D. # The formal organised sector uses indigenous technologies while the unorganised sector uses mainly labour intensive technology.

Question Number : 105 Question Id : 97675510988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed § 4 & W Sy 9 82

Options :

A. ¢ RS TS & Gotl-TTed Urenfiferdl 3R Smarfad Wit o1 SUTNT HRdl § Sidih SRSd & T U F 4 T8 3R
I TR BT IR BT 6|

B. ¥ WW%@-@W@?WWW@MH PRl § TS SRS & T U U 9H T Uefb!
BT YA HAT 5|

C. % WW%WWW&@H T g STaid TS &F T 0 U Yoht T8 3R el Menfiie! &1 Iuam
HATB

D. * 3y=TiRes TTfSa & W Ueffsal o1 IuRT Hal § Jafdh SRFfod &5 7= U ¥ 9 g Wehfieh! o7 SUTNT Bl 7 |

Question Number : 106 Question Id : 97675510989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Keith Hart has noted certain characteristics of the informal sector that make workers in this sector different from the formal sector. Which of the
following is not a characteristic of the informal sector?

Options :

A. % Low levels of skill

B. # Easy entry

C. ¥ Higher amount of investment

D. # Low paid employment

Question Number : 106 Question Id : 97675510989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT GIC A SATAIRD &7 DI & ARV DI e [5a1 ¢ Sl 39 &7 & YHD! DI SAUAND & ¥ T 1 5 | Fafeied § 4 -
SR & &1 [T 751 52

Options :

A. % DR & FEER

B. % 3 Yl

C. ¥ AT &1 3= R



D. % ¥ dd- aTdl AR

Question Number : 107 Question Id : 97675510990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Work Participation Ratio (in terms of gender) is defined as:

Options :

A. ¥ percentage of male and female workers to the corresponding population.
B. ¥ percentage of male workers to the corresponding population

C. ¥ percentage of female workers to the corresponding population.

D. # Ratio of percentage of male and female workers

Question Number : 107 Question Id : 97675510990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B YieR) 3rqurd (1 & Tauf ) ) by weeR ufefia forar mar 82
Options :

A. ¥ 39 3R Afgdl HARI &1 Yafid see § ufamd|

B. % afdd SHeRe U g3y e ol ufa=rd

C. % Yafed ST § Afgar dffe! o1 ufawrd |

D. % TV 3R Afga 4fHe! & Ufa=id &1 Sgard

Question Number : 108 Question Id : 97675510991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term secularism was coined in 1851 by George Jacob Holyoake, a socialist. Before proposing the term secularism, Holyoake had considered
which of the following terms?

Options :
A. ¥ Netheism and Theism

B. ¥ Netheism and Limitationism



C. % Theism and Atheism

D. # Theism and Limitationaism

Question Number : 108 Question Id : 97675510991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁﬂfﬁ?ﬁ&mw 1851 H SISl Sipd gleitaNes gRT IUTRT fasan 7| e AR Ul Ueg o1 URdTd 634 9 Ugd, giaen® A f Isal iR faar
0

Options :

A. % TTRgEwarG 3R g

B. ¥ ARl 3R Hamare

C. ® ITRIHar 3R ARAHa

D. # 3Rk 3R HHrare

Question Number : 109 Question Id : 97675510992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 YHARUEIT DT I UlohdT o T H URHTNG foha forees gRT 91T 3R Spfd & &1 o1 Uit TR 3R Uchiop! o geied 9
gl fear S g
Options :
A. ¢ UleR IOk
B. ¥ BId Hidy
. % faferay Syferay facH
D. % SIS Sl d gleiad

Question Number : 109 Question Id : 97675510992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

defined secularization as the ‘process by which sectors of society and culture are removed from the domination of religious institutions
and symbols’

Options :
A. ¥ Peter Berger



B. # Harvey Cox
C. ¥ William Julius Wilson
D. # George Jacob Holyoake

Question Number : 110 Question Id : 97675510993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
changed the proposition ‘God is Truth’ to ‘Truth is God’
Options :
A. # Jawaharlal Nehru
B. ¥ Gandhiji
C. # Subhash Chandra Bose

D. # Swami Vivekanand

Question Number : 110 Question Id : 97675510993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR YA 7 P YT B TP T & 3R 3 IR 3|
Options :
A. % JAERAd A8%
B. ¢ Tigieit
C. ¥ YN dg 919
D. % Wl fdderg

Question Number : 111 Question Id : 97675510994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It has been pointed out that conversion starts when certain questions arise in the mind of the 'would-be convert'. Malony talks in terms of various
predispositions which start the conversion process. Which of the following is not a predisposition?

Options :
A. # the attempt to find answers to the problems and tragedies in life through a religious mode

B. # a feeling of unhappiness and frustration that does not go away by any secular means



C. % the religion that one lives with is not deemed efficacious enough

D. # the influence of a political ideology that is based on a particular religion

Question Number : 111 Question Id : 97675510994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 112 Question Id : 97675510995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Proselytism is the effort to change the beliefs and actions of a person in order to change his religious point of view. Which of the following
religions has given express permission and directive to go for Proselytisation?

Options :

A. % Hinduism
B. ¥ Christianity
C. # Buddhism

D. # Jainism

Question Number : 112 Question Id : 97675510995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % fBged



B. ¥ ST Y
C. % dig o
D. % S ¥

Question Number : 113 Question Id : 97675510996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is true in respect of Exogenous models of development?
Options :

A. ¥ Exogenous models of development alien to the local genius can go up to a point but remain ineffective in the long run to solve the chronic
deficiencies and socio-institutional imbalances.

B. ® Exogenous models of development alien to the local genius can go up to a point and remain effective in the long run to solve the chronic
deficiencies but not the socio-institutional imbalances

C. # Exogenous models of development alien to the local genius can go up to a point but remain ineffective in the long run to solve the chronic
deficiencies but can solve the socio-institutional imbalances

D. ¥ Exogenous models of development alien to the local genius can go up to a point and remain effective in the long run to solve the chronic
deficiencies and socio-institutional imbalances.

Question Number : 113 Question Id : 97675510996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 114 Question Id : 97675510997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The touchstone of one of the Desert philosophies is “the rule of the best”. Who of the following advocated this philosophy?
Options :

A. # Adam Smith

B. ¥ Spencer

C. ¥ George Harris

D. # Goldman

Question Number : 114 Question Id : 97675510997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

A. % TeH {1y

B. % W

C. ¢ Sfel R

D. % Tt

Question Number : 115 Question Id : 97675510998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the principles of distribution of social advantages and benefits of development is ‘distribution according to need’. Who of the following is
the advocator of the theory — ‘the means of production being the collective work of humanity, the product should be the collective property of the
race. Individual appropriation is neither just nor serviceable. All belong to all.’?

Options :

A. # Rawls

B. ¥ Kropotkin

C. # George Harris
D. # Adam Smith
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Correct Marks : 1 Wrong Marks : 0.25
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A ® A
B. ¥ SiulefdH
C. # SISl gy
D. ® TsH Y

Question Number : 116 Question Id : 97675510999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

In India, a country of immense diversity in its regions and communities, we find a wide range of kinship systems and it is not easy to present an
overall picture of these kinship systems. Sociologists have made an effort to talk about the two major geographical regions, the and
of the country.

Options :

A. # West, East

B. ¥ North, South

C. % West, North

D. # South-east, North-west

Question Number : 116 Question Id : 97675510999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ® Of3\, g




B. ¥ IR, G0l
C. ® UfgH, IR
D. ¥ gRu-ud, IWR-ufdm

Question Number : 117 Question Id : 97675511000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sociological studies in various parts of North India show that there are different social groups. Consider the following and choose the correct
code to identify those groups.

1) patrilineage

i1) clan

ii1) caste/subcaste

iv) fictive kinship

Options :

A. # onlyiand ii

B. # only i, ii and iii
C. # only i, iii and iv

D. ¥ i, ii, iii and iv

Question Number : 117 Question Id : 97675511000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
IR URA & AT YT & THISTRIRG T S 4 UdT gadl ¢ [ fafts amfore aqg €| Fafifed R far &% 8k 37 998! &1 ugam
% g o e

i) forqa,

ii) P,

iii) SfTfdT / SO

iv) BIedd RIAGRT

Options :

A. * Hadi MR ii

B. ® $ad i, i 3 iii

C. ® Had i, iii 3R iv

D. ¥ i, ii, iii 3R iv




Question Number : 118 Question Id : 97675511001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true about Clan and lineage?
Options :

A. # A lineage is an exogamous unit.

B. # A larger exogamous category is called the clan.

C. ¥ Among the Hindus, clan is known as gotra.

D. ¥ A boy and a girl of the same lineage can marry.

Question Number : 118 Question Id : 97675511001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 119 Question Id : 97675511002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the word of , according to The four clan rule, a man must not marry a woman from (i) his father’s gotra, (ii) his mother’s gotra,
(ii1) his father’s mother’s gotra, and (iv) his mother’s mother’s gotra.

Options :

A. ¥ Irawati Karve
B. # Oscar Lewis

C. # G. S. Ghurye
D. ¥ Dumont
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A. ¢ SXAdl Hd

Question Number : 120 Question Id : 97675511003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For purposes of describing the kinship systems found in India, identified four cultural zones, namely the Northern, the Central, the
Southern and the Eastern zones.

Options :

A. # G. S. Ghurye
B. ¥ Irawati Karve
C. # Nicholas

D. # Oscar Lewis

Question Number : 120 Question Id : 97675511003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A. ® S g
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D. ¥ 3R qz9
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Question Number : 121 Question Id : 97675511004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not true about ‘Stand up India Scheme’ and ‘Make in India’ programs?
Options :



A. # They will generate employment

B. # They will generate self employment

C. # They will help the people of marginalised sections

D. ¢ They will not help the people of marginalised sections

Question Number : 121 Question Id : 97675511004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % ISR YT B

B. % d TRIAIR IS B

C. % JGIRIT S T & AN B Hag DI

D. ¢ d BIRIT & G & NNl bl Heg gl HUI

Question Number : 122 Question Id : 97675511005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Since , the Government of India has followed a policy of liberalisation.
Options :

A. ¥ 1990s

B. ¥ 1980s

C. # 1970s

D. # 1960s

Question Number : 122 Question Id : 97675511005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

¥, YRd DR A IEGRIBRUT B A1t &7 UTer b1 g |
Options :
A. ¥ 1990s




B. # 1980s
C. # 1970s
D. * 1960s

Question Number : 123 Question Id : 97675511006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not true?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

A. In developed countries majority are formally employed.

B. In developed countries majority of the people are in service sectors

C. Most of the people in developed countries are in the service sector

D. In India most of the people are employed in primary sector

Question Number : 123 Question Id : 97675511006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this
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Question Number : 124 Question Id : 97675511007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

Sociology is a "humanistic social science". Who of the following said this?
Options :

A. ¥ Abraham

B. # George Lewis

C. # Adam Smith

D. # Karl Mannheim
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Options :

A. ¥ 3STEH

B. % Sol 039

C. % UgH ¥y

D. # &Td U4eH

Question Number : 125 Question Id : 97675511008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India has a rich heritage of thinking and reflection on the sociocultural reality. In this regard has said, "there have been recorded
observations on Indian society since the third century B.C."

Options :

A. ¥ Cohn

B. # S. C. Dubey
C. ¥ Bierstedt

D. % Bottomore

Question Number : 125 Question Id : 97675511008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Options :

A. ¥ Dlgd

B. % U9. 1. gd

C. * fqus

D. ¥ AR

Question Number : 126 Question Id : 97675511009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Who made a statement in 1957 - ‘the sociology of India has only properly begun in the last ten years'?
Options :

A. # Bierstedt

B. # Bierstedt and Pocock

C. ¥ Dumont and Pocock

D. * Beteille

Question Number : 126 Question Id : 97675511009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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A. % faueds

B. * fqus SR Uil

C. ¥ Sghl< 3R Qidld

D. ¥ §cdt

Question Number : 127 Question Id : 97675511010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who of the following travellers/ambassadors described the Indian society as being divided into seven classes without, however, referring to the
varna theory?

Options :

A. * Fa-Hien

B. # Yuan Chwang
C. # Al-Biruni

D. ¥ Megasthenes

Question Number : 127 Question Id : 97675511010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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A. % BI-fguA

B. % g3 =dlfT

C. % 3fa-fosit

D. ¢ TR
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Who of the following authored Economic History of India?
Options :

A. ¥ R.C.Dutt

B. ¥ Marx

C. # Baden-Powell

D. # Metcalfe

Question Number : 128 Question Id : 97675511011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ IR T

B. ¥ Ay

C. % 9S9-Uidd

D. ¥ AchH

Question Number : 129 Question Id : 97675511012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

Baden-Powell strongly contested Henry Maine's view that there was only one type of Indian village. According to Baden-Powell, there were two
distinct types of villages in India. What are they?

Options :

A. # politically autonomous and economically self-sufficient

B. ¥ "ryotwari" or non-landlord or severalty and landlord or joint-village.

C. ® "ryotwari" or non-landlord or severalty and Economically self-sufficient

D. # Landlord or Joint village and Economically self-sufficient

Question Number : 129 Question Id : 97675511012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who wrote the book titled, ‘Hindu Manners, Customs, and Ceremonies’ which is still valuable to scholars of India? He was one of the first to
study caste and inter-relations between castes.

Options :

A. ¥ Abbe Dubois

B. # Francis Buchanan
C. # Cohn

D. * Sir Herbert Risely
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Options :

A. ¢ 3fed GaIgY

B. ¥ THiRN b1

C. % DlgA

D. ¥ IR gaC Nl
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A. % Tf& 3o gt
B. % 9. &.TH. IoIf
C. ® R dq fimn

D. ¢ JHAGT T

Question Number : 131 Question Id : 97675511014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Who of the following was called first Modern Man of India by Rabindranath Tagore and Jawaharlal Nehru. He was a great social thinker and
reformer.

Options :

A. # Dakshina Ranjan Mukherjee
B. # Rev. K. M. Banerjee

C. # Pyari Chand Mitra

D. ¥ Rammohan Roy

Question Number : 132 Question Id : 97675511015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was founded in 1797 by the world famous Sanskritist and Indologist, Sir William Jones.
Options :
A. ¥ The Asiatic society of Bengal, Calcutta
B. ¥ Tattwabodhini Sabha, Calcutta
C. # The Academic Association, Calcutta
D. ¥ The Bethune Society, Calcutta

Question Number : 132 Question Id : 97675511015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¢ T UREAINCH T3S 3 STTd, HADT]
B. ¥ TSI GHT, Hadbal

C. * 3fepIciHeh THIRYUH, SHerchl

D. % § 9 HH1Ecl, Hadhl

Question Number : 133 Question Id : 97675511016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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How many basic needs have been identified by International Labour Organisation (ILO) as a measure of adequacy of a development process?
Options :

AL # 4

B. ¥ 6

C. =7

D. # 8

Question Number : 133 Question Id : 97675511016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

A # 4

B. ¥ 6

C. =7

D. # 8

Question Number : 134 Question Id : 97675511017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Which of the following was the theme of the Human Development report of UNDP in 1995?
Options :

A. ¥ Gender equity

B. #* Public Health

C. * Education

D. # Child health

Question Number : 134 Question Id : 97675511017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

PN UREIER]

B. ¥ WIdol-d W
C. % fRuaf

D. # dlc] WY
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The UNDP report of 2003 makes a bold beginning by setting goals to end human poverty. Which of the following actions was not included in the
declaration?

Options :

A. % Gender inequality

B. # Environmental deterioration

C. ¥ Security of the people

D. * Achieve universal primary education

Question Number : 135 Question Id : 97675511018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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A. #* T rgHTar

B. % TgfaRur frs

C. T b1 &M

D. % AU Ui fRIgm ured e

Question Number : 136 Question Id : 97675511019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per UNDP report, the calculation of Human Development was made by an equation. Choose the correct option.



Options :

A. ¥ Calculating the Human Development = 1/3(Value of Life Expectancy Index) + 1/3(Value of Education Index) + 1/3(Value of GDP Index)
B. # Calculating the Human Development = 1/4(Value of Life Expectancy Index) + 1/4(Value of Education Index) + 1/2(Value of GDP Index)
C. ¥ Calculating the Human Development = 1/2(Value of Life Expectancy Index) + 1/4(Value of Education Index) + 1/4(Value of GDP Index)
D. # Calculating the Human Development = 1/6(Value of Life Expectancy Index) + 1/6(Value of Education Index) + 2/3(Value of GDP Index)
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Options :

A. ¥ A4 {dHTE &1 TTUFT = 1/3 (Sita- TR adbich BT Hed) + 1/3 (RI&T Jehich BT Je) + 1/3 (SIS iUl abic bl o)
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D. % T4 [dBHM &1 TUHT = 1/6 (Sia TR JADich DT Ged) + 1/6 (FRI& b DT Ged) + 2/3 (Sieiul Yadhich ol o)

Question Number : 137 Question Id : 97675511020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human Development Report is published in India
Options :

A. * Every 5 years

B. # Every 3 years

C. # Every 2 years

D. ' Every year

Question Number : 137 Question Id : 97675511020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A. % AP 599
B. ¥ UJ® 3 T4
C. % JdH 2 aY
D. ¢ % ¥

Question Number : 138 Question Id : 97675511021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The unit of analysis for preparing the Human Development Report by the States is
Options :

A. # Village

B. # Block

C. # Sub-Division

D. # District

Question Number : 138 Question Id : 97675511021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ g

B. ¥ Si®

C. % 3U-HSd

D. ¢ forem

Question Number : 139 Question Id : 97675511022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 1974 in her book ‘Sexual Politics’ defined the structure of power as 'patriarchy’.
Options :

A. % Simone De Beauvoir



B. # Kate Millet
C. # Ann Oakley
D. * Martha Nussbaum

Question Number : 139 Question Id : 97675511022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % THAE S gdIR

B. ¥ & fieie

C. % UF 3fipal

D. % Tryf TEW

Question Number : 140 Question Id : 97675511023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

in his/her work Woman's Role in Economic Development, argued that economic work of the female is never accounted for in the
analysis of economic activities.

Options :

A. ¥ Ester Boserup

B. # Kate Millet

C. # Ann Oakley

D. # Martha Nussbaum

Question Number : 140 Question Id : 97675511023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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B. ¥ o fidc
C. % U7 3fial
D. ® ATYf T
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Question Number : 141 Question Id : 97675511024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

M. N . Srinivas came forward with the notion ‘Sanskritisation’. Which of the following statements is true for Sanskritisation?
Options :

A. ¥ How the lower castes emulated the practices of the forward castes.

B. # How the forward castes used to hate the lower castes

C. # It analysed the caste system in mythologies

D. # It is about the importance of Sanskrit in the society

Question Number : 141 Question Id : 97675511024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 142 Question Id : 97675511025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a logic behind the saying that methodologies of Social Science is qualitatively different?
Options :

A. # It is a formal body of knowledge

B. # It has a structured body of knowledge

C. ¢ It has the same method of collecting data like other branch of Sciences

D. # It has a separate set of vocabularies

Question Number : 142 Question Id : 97675511025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 143 Question Id : 97675511026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
observed that there are many delusions that act as obstacles and diverts one from the truth. He called these delusions as ‘Idols of
Mind’.
Options :
A. ¥ Bacon
B. # Rene Descartes
C. ¥ Adam Smith
D. # M. N. Srinivas

Question Number : 143 Question Id : 97675511026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A. ¥ §H
B. ¥ ¥ SUBICH
C. % TeH Yy
D. # TH. T, fiAard

Question Number : 144 Question Id : 97675511027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Comte had prepared a hierarchy of science. which of the following comes first in the Comte’s hierarchy of sciences?



Options :

A. % Sociology
B. # Chemistry
C. ¥ Physics

D. ¥ Mathematics

Question Number : 144 Question Id : 97675511027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A. ® JHIGRITA
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C. ® ifas fag=

D. ¢ 0

Question Number : 145 Question Id : 97675511028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true?

Options :

A. ¥ The Communalist and fundamentalist differ in many ways
B. # The communal states are always theocratic states

C. # The communal states are not necessarily theocratic states

D. # The communalist and fundamentalist have many similarities

Question Number : 145 Question Id : 97675511028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 146 Question Id : 97675511029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are different schools of Sociology. Of those schools, who of the following headed the synthetic or general school of sociology?

Options :

A. % Adam Smith

B. # Herbert Spencer
C. ¥ Emile Durkheim
D. # August Comte

Question Number : 146 Question Id : 97675511029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 147 Question Id : 97675511030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The functional co-relation between Protestantism and capitalism was established by
Options :



A. ¥ Max Weber
B. ¥ Adam Smith
C. # Spencer
D. # Comte

Question Number : 147 Question Id : 97675511030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

m (Protestantism) 3R ‘;J.\\flnldlc'( & d HTHD g-gdy gRT QT foar mar ot
Options :
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Question Number : 148 Question Id : 97675511031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are different stages in the evolution of an institution. Which one of the following is the first one?
Options :

A. ¥ Ideology

B. # Lifestyle

C. # Tradition

D. # Folkways

Question Number : 148 Question Id : 97675511031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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B. ® SiIg-IRIci
C. ¥ W[
D. % SldHAR]

Question Number : 149 Question Id : 97675511032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Micro- Sociology is concerned with human social interactions. The term Micro sociology was used for social anthropology by
Options :

A. % Alfred Cort Haddon

B. % Max Weber

C. ¥ E.E. Evans-Pritchard

D. # W.H.R. Rivers

Question Number : 149 Question Id : 97675511032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 150 Question Id : 97675511033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of Radical Humanism was given by ?
Options :

A. ¥ M.N. Roy



B. # R. K. Mukherjee
C. # Pareto

D. # Brown

Question Number : 150 Question Id : 97675511033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ THTA. T

B. % 3R & J@oil

C. % Il

D. ® ¢34

Question Number : 151 Question Id : 97675511034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who gave the theory of Internal Structure of Role?
Options :

A. ¥ S.F. Nadel

B. # Linton

C. ¥ M.N. Roy

D. # Ghurye

Question Number : 151 Question Id : 97675511034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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C. % THTUA.IY
D. ¥ g

Question Number : 152 Question Id : 97675511035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is mismatched in the following?
Options :

A. ¥ Homo Hierarchicus - L.Dumont

B. # Caste in Modern India - M.N. Sriniwas
C. ¥ Caste, Class Power - G.S. Ghuriye

D. # Caste in Indian Politics - R. Kothari

Question Number : 152 Question Id : 97675511035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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C. ¥ B, TN UTaR -5i1.TH. gRT

D. ¥ HRC 3 U Uileledy -3R. HIBRI

Question Number : 153 Question Id : 97675511036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best describes a social institution?
Options :

A. # An organization that arranges social service

B. # procedure that regulates human behavior

C. ¥ A place which organises social functions



D. # An organization which defines social positions

Question Number : 153 Question Id : 97675511036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 154 Question Id : 97675511037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following techniques is associated with Case Study ?
Options :

A. ¥ Quantitative and qualitative analysis

B. ® Qualitative analysis

C. ® Regression Analysis

D. # Quantitative analysis

Question Number : 154 Question Id : 97675511037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 155 Question Id : 97675511038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Any Social research on a specific subject involving intensive study of a social phenomenon, group, event as data is called
Options :

A. ¥ Case study

B. # Interview Schedule

C. # Data collection

D. # Cohort Study

Question Number : 155 Question Id : 97675511038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 156 Question Id : 97675511039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Even change in Indian society can be understood by studying its traditions’ Who of the following is of the above view?
Options :

A. # R. Kothari

B. # S.C. Dube

C. # G. S. Ghuriye

D. ¥ D. P. Mukherjee



Question Number : 156 Question Id : 97675511039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ® 3R. BIBRT (R. Kothari)

B. ¥ TH.. g4 (S.C. Dube)

C. % S, TY. g4 (G. S. Ghuriye)

D. ¢ ﬁfﬂ){%ﬁﬁ(D. P. Mukherjee)

Question Number : 157 Question Id : 97675511040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is known as giving preference to other culture than of the own.
Options :
A. ¥ Xenocentrism
B. # Cultural plurality
C. # Secularism

D. # Ethnocentricism

Question Number : 157 Question Id : 97675511040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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D. * Ui

Question Number : 158 Question Id : 97675511041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following will be called Lumpen—Proletariat, according to Karl Marx’s theory?
Options :

A. ¢ The unorganised lower orders, Beggars, unorganized sector workers and petty criminals
B. # Daily wagers and contract workers

C. ¥ All workers, women, Peasants and criminals

D. ¥ Wage earners and the lower class

Question Number : 158 Question Id : 97675511041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 159 Question Id : 97675511042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following advocated the idea of “Vertical’ and ‘Horizontal’ solidarity in Indian caste system ?
Options :

A. # L. Dumont

B. # S.C. Dube

C. # G.S. Ghuriye

D. ¥ M.N. Sriniwas

Question Number : 159 Question Id : 97675511042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. #* Ud. §Th% (L. Dumont)

B. ¥ TH.. g4 (S.C. Dube)

C. % S, TY. g4 (G. S. Ghuriye)

D. ¥ THUA. o (M.N. Sriniwas)

Question Number : 160 Question Id : 97675511043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following gave the theory of ‘Status’ and ‘Role’?
Options :

A. ¥ Linton

B. # Max Weber

C. # Nadel

D. * L. Dumont

Question Number : 160 Question Id : 97675511043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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B. % Y AR (Max Weber)
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Question Number : 161 Question Id : 97675511044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are some categories of kin between which sexual relationship is prohibited as they are too closely related. Such relationship is called

Options :

A. ¥ Incest

B. # Avoidance

C. # Affinal relation

D. # Joking relationship
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Question Number : 161 Question Id : 97675511044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¢ TN (3U%)

B. * URER ey

C. % Jalfed da=i

D. * RGN Jao

Question Number : 162 Question Id : 97675511045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T. B. Bottomore had suggested the four-fold division of social classes.Which of the following classes has not been proposed by him?
Options :

A. # Upper class

B. ¥ Lower class

C. # Middle class

D. * Working class

Question Number : 162 Question Id : 97675511045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 163 Question Id : 97675511046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following is the author of 'Dialectic of Tradition and Modernity'?
Options :

A. ¥ D. P. Mukherjee

B. # G. S. Ghuriye

C. % M. N. Srinivas

D. * Y. Singh

Question Number : 163 Question Id : 97675511046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 164 Question Id : 97675511047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Modernization, in Sociology refers to transformation of a traditional society to a modern society. It in fact refers to
Options :

A. ¥ Way of Life

B. # Dress Style

C. # Food habit

D. # Advancement in science and Technology

Question Number : 164 Question Id : 97675511047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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B. ¥ dRIYW
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Orientation : Vertical
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Who among the following advocated the concept of ‘one caste’, ‘one religion” and ‘one God’ for mankind by rejecting the caste system?
Options :

A. # K. Ranga Rao

B. ¥ Sri Narayan Guru

C. # B.R. Ambedkar

D. # Gandhiji

Question Number : 165 Question Id : 97675511048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 97675511049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not true in the context of urbanisation?



Options :

A. # Joint families have disintegrated

B. ¥ Inter-caste marriages have increased
C. ¥ Dowry system has stopped

D. # Non-agrarian occupation have increased

Question Number : 166 Question Id : 97675511049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 167 Question Id : 97675511050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following made the study of Social Dynamism?
Options :

A. ¥ Comte

B. # Berger

C. ¥ Dumont

D. # Nadel

Question Number : 167 Question Id : 97675511050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



AV PIR
B. ¥ §oR
C. % Syl
D. ® dred

Question Number : 168 Question Id : 97675511051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The theory of ‘Leisure Class’ is propagated by
Options :

A. ¥ Veblen

B. ¥ Spencer

C. # Adam Smith

D. # Weber

Question Number : 168 Question Id : 97675511051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRy > i & Yade gl
Options :

A. ¢ A&

B. ¥ W

C. % TeH Ay

D. ¥ d&R

Question Number : 169 Question Id : 97675511052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following authored the book ‘Postmodernism or, the cultural logic of late capitalism’?
Options :

A. % J. Lyotard



B. ¥ F. Jameson
C. * Comte
D. #* Nadel

Question Number : 169 Question Id : 97675511052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & & fram UReHisHod a1, § Seard Allod it e dbiuciored g fordl g2
Options :

A % S RS

B. ¥ U, ST

C. % Pl

D. ® qr8d

Question Number : 170 Question Id : 97675511053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following is the author of ‘social construction of reality’?
Options :

A. ¥ Berger and Luckmann

B. # N.J. Smelser

C. # Spencer

D. # Veblen

Question Number : 170 Question Id : 97675511053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< IR H-UgaRM T RAfere e g forg ferdte
Options :

A. ¢ ToR TUS g™

B. ¥ TA.S. HAW




C. % WM
D. ¥ Jd&od

Question Number : 171 Question Id : 97675511054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a social movement that seeks to improve, or revise or change a part of the society?
Options :

A. ¥ Reactionary social movement

B. # Revolutionary Social Movement

C. # Religious movement

D. ¥ Revisionary Social Movement

Question Number : 171 Question Id : 97675511054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. * gfafsparardt amifSie sficer

B. # ifdepRI YHAINID SHicler

C. % YIS Sfiale

D. ¢ HRNYATEHS AT TG

Question Number : 172 Question Id : 97675511055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following gave the theory of anticipatory socialization?
Options :

A. # Linton

B. ¥ Merton

C. # Spencer



D. * Luckmann

Question Number : 172 Question Id : 97675511055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfeRad & 9 ‘gl QrHTSihRUr B SaYR fba i
Options :

A. % fefed

B. ¥ HcA

C. % W

D. ¥ AHEA

Question Number : 173 Question Id : 97675511056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Weber’s Verstehen is an approach within Sociology. Which of the following is the meaning of Verstehen?
Options :

A. % Identifying

B. # Interpreting

C. ¥ Understanding

D. # Explaining

Question Number : 173 Question Id : 97675511056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JeR 1 G- JHORIRG & HIeR T VS0 g | FHAfied & 9 -9 9 &1 31 g2
Options :

A. # Ugdld oAl

B. # AT

C. ¥ JHHAI

D. ¥ JHIM




Question Number : 174 Question Id : 97675511057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The acronym ‘BIMARU’ comprises the first letters of 4 States. Who of the following coined the term?
Options :

A. ¥ Ashish Bose

B. # G. S. Ghuriye

C. # Y. Singh

D. # Srinivas

Question Number : 174 Question Id : 97675511057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfkquif 2req diARe & 4 I01 & TR 3feR M g HHRS I8! BT SaYURT fobem B2
Options :

A. ¢ IRy a1

B. % Shoagd

c. * a5 Rig

D. % HifHary

Question Number : 175 Question Id : 97675511058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who of the following can be called as a ‘Historical Sociologist’?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

A. Adam Smith

B. Karl Marx

C. David Ricardo



D. Max Weber

Question Number : 175 Question Id : 97675511058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofied o O i Qg SHTSIRIRGT H5T S 9hdl 5?2
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

A. TeH Ry

B. &Td AR

c. Sfas Reprsf

D. Ha IR

Question Number : 176 Question Id : 97675511059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a sociologist who has proposed the 12 type classificatory scheme in the comparative study of the Indian joint family.
Options :
A. ¥ Kolenda (1998)
B. # G.S. Ghuriye
C. # Y. Singh

D. #* Srinivas

Question Number : 176 Question Id : 97675511059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JHCIRIRG! & gl HRA Ygad URaR & qa-Tdd - H 12 YHR B aFif o DieHT Uaifad & g |
Options :

A. ¥ BIciel (1998)




B. % STua gd
c. % q15 Rig
D. # fifHary

Question Number : 177 Question Id : 97675511060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two schools of law for property rights, out of which Dayabhaga is adopted in states.
Options :

A. # Bengal and Bihar

B. ¥ Bengal and Assam

C. # Bihar and Assam

D. # Bengal and Odisha

Question Number : 177 Question Id : 97675511060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % ST IR fa8R

B. ¢ STl 3R 3rH

C. % f9gR 3R s\

D. * ST 3R IS

Question Number : 178 Question Id : 97675511061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
projected the Indian joint family as a surviving example of the ancient form of human family.
Options :
A. ¥ Henry Maine
B. ¥ Weber



C. # Ghuriye
D. * Y. Singh

Question Number : 178 Question Id : 97675511061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A ¢ BRI AT

Question Number : 179 Question Id : 97675511062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

described the patriarchal form of joint family as the family form of all Hindus but claimed an Indo-European pedigree for
the Indian joint family.

Options :

A. % Prabhu, Ghurye
B. ¥ Prabhu, singh
C. # Ghuriye, Singh
D. #¥ Ghurye, Srinivas

Question Number : 179 Question Id : 97675511062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A YUY gd
B. % 7y, R¥ig



c. % g4, Rig
D. # g4, fifrarg

Question Number : 180 Question Id : 97675511063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the central kinship link in the organisation of a family is between father and son/s, the family is

Options :

A. #* Nuclear
B. # Joint

C. ¥ Patrilineal
D. # Matrilineal

Question Number : 180 Question Id : 97675511063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wd T URAR & We4 § S Traert e frdr ik T/ga & S giar g, @ ukar G
Options :

A. % TIHBY

B. * Hgad

C. ¢ fuqgasig

D. ® HIJa=iY
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Question Number : 181 Question Id : 97675511064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
views the family as the workshop of kinship and marriage norms and practices.
Options :
A. # Ghurye
B. ¥ Patel
C. # Y. Singh
D. # S. C. Dubey

Question Number : 181 Question Id : 97675511064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRAR ®I ATdGRT 3R fdarg AFcs! R YUT3f Bt SRR & =0 & ¢adl ¢




Options :

A ® g

B. ¥ Ucd

c. * a5 Rig
D. % TY. 4. gd

Question Number : 182 Question Id : 97675511065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following authored “The death of the family” ?
Options :

A. % David Copper

B. ¥ Weber

C. # Morgan

D. * Engles

Question Number : 182 Question Id : 97675511065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffad 7 3 &1 < Sy 3t & Bilel " & oEs U2
Options :

A. ¥ SfdE BIR

B. % q&}

C. ® Hi

D. ¥ W

Question Number : 183 Question Id : 97675511066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a step taken by the West Bengal Government to achieve balanced urbanization in the state?
Options :



A. ¥ participation of people, especially the people of economically backward classes and women in urban planning
B. # democratic decentralization
C. # development of small and medium towns and rural areas

D. ¢ Allotment of more funds for development of Kolkata only

Question Number : 183 Question Id : 97675511066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 184 Question Id : 97675511067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following studied the influence of urban market on village economy which has been the focus of study in a village called 'Mohana’
near Lucknow?

Options :

A. ¥ D. N. Mazumdar
B. # S. C. Dubey

C. # G.S. Ghurye

D. # Y. Singh

Question Number : 184 Question Id : 97675511067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



A. ¢ 81, TH. g9HeR
B. ¥ TY. 4l. gd
C.®STaygd

D. % 15 g

Question Number : 185 Question Id : 97675511068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a kind of Rural-Urban migration?
Options :

A. % Villagers seek employment in far off cities

B. # Villagers migrate to adjacent cities

C. # Increasing size of metropolitan cities

D. # Villagers leaving rural area due to social disputes

Question Number : 185 Question Id : 97675511068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 186 Question Id : 97675511069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true in the context of globalisation?
Options :

A. % Rural - Urban disparity has increased further.



B. # Rural-urban mobility of labour has increased
C. # Shift of workforce from agriculture to non-agriculture has taken place
D. ¢ Rural-Urban mobility of labour has decreased

Question Number : 186 Question Id : 97675511069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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D. ¢ YT S ARG Tio=iTerar ¥ &4l 18 8

Question Number : 187 Question Id : 97675511070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following had conducted a study of inter-caste and inter community marriages in Bombay?
Options :

A. ¥ C. T. Kannan

B. # Giri Raj Gupta

C. # R. Gandhi

D. # Y. Singh

Question Number : 187 Question Id : 97675511070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 forem S o siduiidig ok Siar-ame1iie faare &1 sieqa= forar ur
Options :

A ¢ L8 B

B. ® TR o1 e




C. % 3R el

D. # dr5 Rig

Question Number : 188 Question Id : 97675511071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ HIRGA

B. % 1ol ieht

C. * TH TH. TR

D. # U UH X5

Question Number : 188 Question Id : 97675511071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whose study has shown that urbanization and education result in a significant increase in conjugal role patterns, even within a joint household?
Options :

A. ¥ Conkhin

B. ¥ Raj Gandhi

C. # M. S. Gore

D. # A. M. shah

Question Number : 189 Question Id : 97675511072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the normal way to look up to the Society?
Options :

A. # Caste and class

B. # Social stratification

C. # Simple society



D. ¢ System of parts

Question Number : 189 Question Id : 97675511072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % SIfq 3R ol

B. % TP TRIHRUI
C. % TIYRU GHTSI

D. ¢ YTl &1 Jomelt

Question Number : 190 Question Id : 97675511073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true about the belief of the fundamentalists?

Options :

A. # They argue for return to the original tenets of the religion.

B. # They want to stick to the meaning given to the religion at the time of its foundation.
C. ¥ They accept the pluralist principle of many Gods, many laws

D. # They believe that the God’s words will be the basis of law, economy, society etc.

Question Number : 190 Question Id : 97675511073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 191 Question Id : 97675511074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the role of the sociologist in the health care system?
Options :

A. ¥ patient advocate

B. # medical treatment provider

C. # preventer of disease

D. # controller of funds

Question Number : 191 Question Id : 97675511074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A Tt Siferaer

B. % ffebe uard

C. % 7 HaRT

D. % ATl &1 Ad=H

Question Number : 192 Question Id : 97675511075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How can we differentiate the "medicine of the species" from the "medicine of social spaces™?
Options :

A. ¥ It focused on curing physical ailments

B. # It contributed to laws concerning hygiene

C. % It allowed patients to talk about their feelings

D. # It established standards for medical practice

Question Number : 192 Question Id : 97675511075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 193 Question Id : 97675511076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of the custodial violence?
Options :

A. # Violence in office

B. ¥ Violence in police custody

C. # Violence in family

D. # Violence in public

Question Number : 193 Question Id : 97675511076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. * Hroiag ¥ i

B. ¢ Gfery fgrad  fga

C. % uRar & fear

D. * Hrdui-e R H

Question Number : 194 Question Id : 97675511077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
is responsible to enforce the Norms.
Options :
A. % Positive sanction only
B. # Negative sanction only
C. # Order only

D. ¥ Positive and negative sanctions

Question Number : 194 Question Id : 97675511077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % Had GHRIHD HoRl

B. % $dd FHRIHD Tl

C. ¥ Had MG

D. ¥ IHRIHD R THRIHAD HoR]

Question Number : 195 Question Id : 97675511078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Going by the theories of different sociologists, which of the following is not a characteristic of Secularization?
Options :

A. % Itis a process in which social institutions gain autonomy.

B. # Religious consciousness declines

C. # It is a consequence of industrialisation

D. ¥ Secularization enhances social importance of religion

Question Number : 195 Question Id : 97675511078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 196 Question Id : 97675511079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has given the statement that “marriage is rooted in the family rather than family in marriage”?
Options :

A. ¥ Advin

B. # Moris

C. ¥ Westermarck

D. # Jack

Question Number : 196 Question Id : 97675511079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g $Y fHam faar f& faarg &t o8 uRaR A gidt 8, 7 1 uRar o1 58 fdarg # gt g
Options :

A. * Tsfaq

B. % HIRY

C. ¥ IEIHD

D. ¥ S&

Question Number : 197 Question Id : 97675511080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following option is correct if Economy is invariably non-monetized economy?
Options :



A. # Health care
B. # Industrial

C. ¥ Tribal

D. # Street Vendors

Question Number : 197 Question Id : 97675511080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ TG CEHTA

B. % 3N

C. ¢ TSI

D. # geury fashar

Question Number : 198 Question Id : 97675511081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has given the statement that ‘In a metaphorical sense the village communities of India were of many years beyond the frontiers of dynasties
which ruled the great cities’?

Options :

A. % S.C. Dubey
B. ¥ M.N. Dubey
C. # R. M. Singh
D. ¢ G.S. Ghurye

Question Number : 198 Question Id : 97675511081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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B. % TA.UA. gd
C. % 3R TH. g
D. ¥ off. T0. g4

Question Number : 199 Question Id : 97675511082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following quotes is given by Karl Marx?

Options :

A. # Income provides an indication of class of production

B. # Occupation provides an indication of class of production

C. ¥ Position in relation of production provides an indication of class of production

D. # Ownership of land provides an indication of class of production

Question Number : 199 Question Id : 97675511082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfed & & S 91 IS0 BTet HI gIRT & a1 62
Options :

A. % 3 I & ai DT TP Hobd UG Hall o

B. ¥ XURI 3G & o BI TP Hobd UGH Rl §

C. ¥ ITEA & ey H RUfY Iaare & 7 b1 bt St &
D. * Y & WA ST & I BT Y T o

Question Number : 200 Question Id : 97675511083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Lowie, who keeps property on feudal basis?
Options :

A. # Venket of South India

B. ® Hopi of North Africa



C. ¥ Dahomey of Uganda
D. # Gonds of Zimbabwe

Question Number : 200 Question Id : 97675511083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el & TR, B g ol HUR BT A SATYR TR 3G 82

Options :
A. % Tf&UT YRA BT ddbe
B. # JTRI 3WBIHT Bl gIal

C. ¥ QST & STRIH!
D. % foeTsd & Tig
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Question Number : 201 Question Id : 97675511084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Ginsberg, which one of the following covers the study of population and social structure including social groups and institutions?
Options :

A. % Social Language

B. ¥ Social activities

C. # Social anatomy

D. ¥ Social morphology

Question Number : 201 Question Id : 97675511084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et & SR fFafafed o 9 faaes siarfa mHiois Wg! SiR IR afgd SHue 3R 1ol WReT ST 3fead fohar Sl g2

Options :

A. ® THATSTS HTHT
B. % TSI Tfafaferai
C. ® TS T
D. ¢ IS TR D!

Question Number : 202 Question Id : 97675511085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not an important factor for India’s rapid population growth?



Options :

A. ¥ High birth rate
B. ¢ Immigration
C. # Early marriage

D. #* Lack of awareness

Question Number : 202 Question Id : 97675511085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA P g SRS gfg o folt HIF-I1 Ueh HE@qUl SRS ol o2,
Options :

A. % 3T TH X

B. ¥ 3(Tyart

C. % Seg RMGH I

D. # SRRBehd] bl HHI

Question Number : 203 Question Id : 97675511086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the writer of "Untouchability in Rural Gujarat" ?
Options :

A. # B.K. Gandhi

B. ¥ L.P. Desai

C. #* N.K. Mishra

D. # G.S. Dubey

Question Number : 203 Question Id : 97675511086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SFCAfATACT 9 TR ORI & AFP DI g ?

Options :



A. ® &t b, ieh

B. ¢ 3T3.0). &418
C. % TP, fsn

D. ¥ Sl.UY. gd

Question Number : 204 Question Id : 97675511087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who had given the concept of Atomistic family?
Options :

A. # Maclver

B. # Westermarck

C. # Durkheim

D. ¥ Zimmerman

Question Number : 204 Question Id : 97675511087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRATY] URGR F TR b8 gRT 1 TS 82
Options :

A. % THRIGR

B. ¥ d¥ TS

C. % g@M

D. ¢ fREA

Question Number : 205 Question Id : 97675511088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How can we compare a symbolic interactionist with a social interaction?
Options :

A. ¥ With the Behaviours



B. ®¥ With the rights
C. # With the human parts
D. * With the Drama roles

Question Number : 205 Question Id : 97675511088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TP UdibTed SHd:harard! &1 gamT Qe Sfd:fharsil ¥ o R Iahd 82
Options :

A. ¥ FAER &b Y

B. % 3ffYHRI & WY

C. % HMT 4T & 1Y

D. # qIcdh YHHTS o 1Y

Question Number : 206 Question Id : 97675511089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The characteristic of sociology is
Options :

A. ¥ empirical

B. # objective

C. # value-neutral

D. # conjectural

Question Number : 206 Question Id : 97675511089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHISIRIRE P v &l
Options :

A. ¢ HJHag

B. ¥ Je



C. * JoO-deyy
D. % 3AFTES

Question Number : 207 Question Id : 97675511090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
make/makes man autonomous or self-determining , while socialization brings man into relation with others.
Options :
A. * Political differences
B. # Desire to introduce new ideas
C. ¢ Individualization

D. * Integration

Question Number : 207 Question Id : 97675511090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS &1 W a1 AU ST § / ST & STaar GHTbRUl A &1 gORl o a1 Y&y & A1 @
Options :
A. # JSHId® AdHE
B. % U fqaRI &I UL d B 3BT
C. ¢ SR
D. % THIHUI

Question Number : 208 Question Id : 97675511091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the theory of divine origin, what people are believing for the society is
Options :

A. ¥ Society is given by God

B. # Society is result of force

C. # Society is not given by God



D. # Society grew steadily

Question Number : 208 Question Id : 97675511091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<dig Iaft & Rigid & SR, a1 99 & fau Sl Ay R W § a8 g
Options :

A. ¥ HIS W19 gRT fear Srar g

B. % IS g &1 R0 §

C. ® THTS YT gRI gl [¢1 STl §

D. % JATS doil ¥ fdhRd gef

Question Number : 209 Question Id : 97675511092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Residues and derivatives are both manifestations of sentiments, which according to Pareto are
Options :

A. ¥ Instincts

B. # Will Power

C. # Occurrences

D. # Leftovers

Question Number : 209 Question Id : 97675511092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TREl & AR AR ATa® Td YT ddb a1 HTa-13] Bt il 8~ g2
Options :

A. ¢ g

B. % T3] Qfexd

C. ® gRighi

D. ¥ 3{dRIY



Question Number : 210 Question Id : 97675511093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who said that ‘Secularism and Indian culture are mismatched ...’
Options :

A. ¥ T. N. Madan

B. # Ashis Nandy

C. # Jawaharlal Nehru

D. # Rajeev Bhargava

Question Number : 210 Question Id : 97675511093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forge oa fob oAU 3R YR S&pfd a7 §...!
Options :

A. ¢ & T "

B. % iy =t

C. % TATERdId g%

D. # ISig HRTG

Question Number : 211 Question Id : 97675511094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What do we call the Social structure if power is in the hands of the oldest member?
Options :

A. ¥ Gerontocracy

B. # Political system

C. # State system

D. # Country head

Question Number : 211 Question Id : 97675511094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IS T G R Yo & 1Y H § dl g1 WHISIh TRaHT &l 31 Had /2
Options :

A ¥ dgdd

B. % ST AqRIT

C. % S YuITeit

D. % SNYHA

Question Number : 212 Question Id : 97675511095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
and post-industrial literature are based on new social movement approach.
Options :
A. # Political differences
B. # Desire to introduce new ideas
C. # Individualization
D. ¢ Postmodern

Question Number : 212 Question Id : 97675511095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR SRR Wit T Ao Sfigier e ®Iv & SUR SR §
Options :

A. % SIS Tave

B. ¥ 7Y fdaRI &1 U B Dl g7

C. % Fsiiau

D. ¥ IR Y

Question Number : 213 Question Id : 97675511096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

As per the progressive stages in the social movement’s life cycle which one is the correct?
Options :

A. # Coalescence, Bureaucratization, Emergence, & Decline

B. ¥ Decline, Bureaucratization, Coalescence, & Emergence

C. # Bureaucratization, Coalescence, Emergence & Decline

D. ¥ Emergence, Coalescence, Bureaucratization & Decline

Question Number : 213 Question Id : 97675511096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT Sieiad o Siia- dgh § TTaRId TN & TR B A1 el 62

Options :
PN 2N o
A. % TEUUISH, AIBRRMGIDHRU], Igd, 3R Ud-
B. ¥ UdH, T e, MY, 3R Id
C. ® DR, TSEYH, Igd 3R Ud-
D. ¥ 3gd, T3, BB 3R T

Question Number : 214 Question Id : 97675511097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Magna Carta is established by

Options :

A. # America

B. ¥ England

C. #® Germany

D. # France

Question Number : 214 Question Id : 97675511097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Pret SR 0% far T g |



Options :

A. % 3RS
B. ¥ §iS
C. ® ST
D. * Y

Question Number : 215 Question Id : 97675511098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has given the statement that “Society is a network of Social Relationships’’?
Options :

A. ¥ Zimmerman

B. ® Westermarck

C. ® Durkheim

D. ¥ Maclver

Question Number : 215 Question Id : 97675511098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gg HY foram e 8 o st amfoies eielt o1 U 998 872

Options :

A, ® RoReT
B. ¥ J&IHD

C. % g@M
D. ¥ HaIR

Question Number : 216 Question Id : 97675511099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why is language an important factor for society?
Options :



A. # It makes social contacts very difficult
B. ¥ It makes social contacts easy
C. % It satisfies men’s need of expression

D. # It does not satisfies men’s need of expression

Question Number : 216 Question Id : 97675511099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT YA & foIT Heaqul SR i g2
Options :

A. * Tg JIHITD US| Bl Igd B a1 &l

B. ¥ Tg WIS U B AT ST §

C. % g YN B! SHHfGd B SMaTdHdl &I IR HRT §

D. ¥ U T3NI I ffiaafad &1 STaxgdhdl &l 1 T8l Hdl &

Question Number : 217 Question Id : 97675511100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The words “socius” and “logos” are taken from
Options :

A. ¥ Hebrew, Latin

B. # Sanskrit, India

C. ¥ Latin, Greek

D. # Hebrew, Greek

Question Number : 217 Question Id : 97675511100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR 3R A" Vg IHH: SARLEIE]
Options :

A. ® fgg, afeq



B. # I¥hd, HRA
C. ¢ dfeq, Wi
D. % gg, Wb

Question Number : 218 Question Id : 97675511101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Emile Durkheim was a great sociologist. Which country does he belong to?
Options :

A. ¥ France

B. ¥ Germany

C. #* South Africa

D. # Afghanistan

Question Number : 218 Question Id : 97675511101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T gl U TR THIeRIR 2, 9% o =1 & SmTerRE 32
Options :

A Y B

B. % ST

C. ® TI&uT 3TpIehT

D. ¥ IR

Question Number : 219 Question Id : 97675511102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the factors does not enforce the norms?
1) punishment and arrest

i1) Religion and caste
ii1) reinforcement and recognition

Options :



A. % Only i)
B. ¥ Only ii)
C. ¥ i), ii) and iii)

D. #* Neither i) nor ii) nor iii)

Question Number : 219 Question Id : 97675511102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P I HRS AFCS! DI AR el Bl 82
i) ol 3R

i) o 3R Shfay

iii) GEGTHRUT 3R AT

Options :

A. ¥ $Had i)

B. ¥ &ad ii)

C. ¥ i), i) 3R iii)

D. ® Fali) "8l ii) gl iii)

Question Number : 220 Question Id : 97675511103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following are not classical sociologists?
Options :

A. # Foucault and Derrida

B. ¥ Merton and Karl Mannheim

C. # Morris and Hobhouse

D. # A.M Dubey and K. K Singh

Question Number : 220 Question Id : 97675511103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o IR IATSIRe T8t 82



Options :

A. % Bidlee 3R SRTT

B. ¢ HCH 3R HIdt H-gH

C. % TY 3R glagrsy

D. % TUH. g 3R .. R
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Question Number : 221 Question Id : 97675511104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following had given the two types of social organisations - Gemeinschaft and Gesellschafts?
Options :

A. #* Foucault

B. # Karl Mannheim

C. ¥ Ferdinand Tonnies

D. # K. K Singh

Question Number : 221 Question Id : 97675511104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfaa & 9 feeam ﬁw (Gemeinschaft) 3R 1ﬁ@?‘l’*Z'ITclﬂ(Gesellschafts) &1 TSI a1 B! fear %?
Options :

A. % Bidle

B. ¥ ®Id B-gH

C. ¥ HigAS Tl

D. ¥ &b g

Question Number : 222 Question Id : 97675511105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which system conceptualizes sociology as the combination of different Branches of knowledge?
Options :

A. #* Independent School

B. ¥ Synthetic school

C. # England School

D. #* American School

Question Number : 222 Question Id : 97675511105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

DI AT FOTTCl THTSIRIRG &1 19 $1 [l marsif & e & =0 d A 82
Options :

A % ST e

B. ¢ Ridfesd pa

C. ¥ 3Tl T

D. ¥ 3AR® WHd

Question Number : 223 Question Id : 97675511106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Social morphology is a branch of sociology. Which of the following ideas is not analysed here?
Options :

A. ¥ Social division

B. # Social activity

C. # Social action

D. # social changes

Question Number : 223 Question Id : 97675511106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ST AT, THISRIRG &t Udh Ul g 9 § 9 ford foaR &1 faweiyor sod =&t forar man g2
Options :

A. ¢ IS TGS

B. % rTfSTes Tfctfafe

C. % qHIS® Bl

D. % graTfors uRad+

Question Number : 224 Question Id : 97675511107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which theory analyzes the connection between personal challenges and larger social issues?
Options :

A. ¥ Sociological Imagination

B. # Synthetic School

C. # Chicago School

D. # Formalistic School

Question Number : 224 Question Id : 97675511107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P I Rigid afadid gl 3R a1 HIford Ggi & o daY HT faRaw0r Bl 82
Options :

A. & GHTIST Bl

B. ¥ Ridfew wpa

C. % RGN W%d

D. ¥ HIANIRCS WBd

Question Number : 225 Question Id : 97675511108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the action of people’s innate ability to understand and assess the things they see on the regular basis called?
Options :

A. ¥ Common sense

B. # Sociological Imagination

C. # Social action

D. # social changes

Question Number : 225 Question Id : 97675511108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT bt Frafird U 3 St ST arel Dol ) FHSH 3R IThT 3T e B DI SIS &HdT Bt fohdT Bl T BBl SIdl 82

Options :




A. ¥ AEIRD gfg
B. ® IS Byl
C. ® grATIS B
D. % TTATSIS URadd

Question Number : 226 Question Id : 97675511109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has put the proper effort to keep forward the concept of primary group in social science?
Options :

A. #* G H Dubey

B. ¥ C H Cooley

C. # M N Singh

D. # C W. Right

Question Number : 226 Question Id : 97675511109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI faR # Ui THg 1 SauURuT & 3F g6 o1 3fad YA feaq fear g?
Options :

A. % Sl Uggd

B. ¥ Hi g il

C. % WA RE

D. % {l. §&Y, [3C

Question Number : 227 Question Id : 97675511110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rules needs approval from the state?
Options :

A. # Mores



B. * Norms
C. ¥ Laws

D. #* Norms and laws

Question Number : 227 Question Id : 97675511110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofRad o © 5 o &1 g ¥ SrgHIeA 3T SHTa=adhadl 52
Options :

A. % ER-[dIR

B. ® AMdS

C. ¥ BT

D. % HMGS d Bl

Question Number : 228 Question Id : 97675511111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What do we call that process which enables us to develop the skills we need to participate in human society?
Options :

A. # Common sense

B. # Social action

C. ¥ social changes

D. #* Social behaviour

Question Number : 228 Question Id : 97675511111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 39 UichaT &l T Hgd & Sl g1 HIFd FHIS H U o & oY 3Taxdes $Ie fasRid & H 7ag PRal o7
Options :

A. % OGRS gfg

B. ¥ TG B




C. ¢ graT® gRad
D. % THS H IdgR

Question Number : 229 Question Id : 97675511112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true about secularism?

Options :

A. # It stresses the role of human autonomy

B. # It asserts that state, laws, education etc will be free from the dominance of religion
C. # It seeks the autonomy of reason

D. ¢ It is anti-religion

Question Number : 229 Question Id : 97675511112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yrfFRUEAr & IR § FEfafed O 9 oF 91 $UF 9 181 62

Options :

A. % Tg HIFd Wl B YT R §of el 8

B. % I8 &Id1 &xdl ¢ & I, HIA, R1ef onfe o & gY@ I gad gint
C. % g HRUI ! W dlﬁdl%

D. ¢ g uH RN g

Question Number : 230 Question Id : 97675511113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the right book in which William Fielding Ogburn coined the term cultural lag.
Options :

A. # Technology and the Changing Family, 1953

B. # Social Characteristics of Cities, 1937

C. ¥ Social Change with Respect to Culture and original Nature, 1922



D. # Social Characteristics of State, 1943

Question Number : 230 Question Id : 97675511113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fordTa g fora faferad wifed SiRTer - Wiap i SaRTd Teg Bl T

Options :

A. % YN 3R Sqad tlﬁaﬁ, 1953 (Technology and the Changing Family, 1953)

B. ® 5[6?3[ P TSR ﬁ?ﬁw, 1937 (Social Characteristics of Cities, 1937)

C.¢ Wﬁf 3R Hdl Hopi?i & Hay T qrioren HI{\QdC‘H, 1922 (Social Change with Respect to Culture and original Nature, 1922)
D. ¥ oG &I JTHIISID ﬁ'@'ﬁlﬂﬁ, 1943 (Social Characteristics of State, 1943)

Question Number : 231 Question Id : 97675511114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The second stage in ‘the Law of Three stages’ is
Options :

A. # Theological stage

B. ¥ Meta-physical stage

C. # Evolutionary stage

D. # Positive stage

Question Number : 231 Question Id : 97675511114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 RN &1 e § ORI TR0 gl
Options :

A. % YT TR0T

B. ¢ 37Hifcds TROT

C. * faPpryaTdt TR0

D. # HHRIHD O]



Question Number : 232 Question Id : 97675511115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the time of the nineteenth century, which of the intellectual forces was operative?
Options :

A. # Evolutionary

B. # Humanitarianism

C. ¢ Value rationality

D. # Traditional rationality

Question Number : 232 Question Id : 97675511115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT FATed] & SR DIF-H Sl Xfad Ffohg ot
Options :

A. % fqrgard

B. #¥ HHddIdlq

C. ¥ T qhaiTad

D. % URUR® dHaiTad

Question Number : 233 Question Id : 97675511116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has given the statement that society and living organisms have similarities in structure?
Options :

A. ¥ M N Singh

B. # C W. Right

C. # Tylor

D. ¥ Herbert Spencer

Question Number : 233 Question Id : 97675511116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. * THEAf8g

B. # Il S&Y, A

C. # TIER

D. ¢ Bac TR

Question Number : 234 Question Id : 97675511117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements refers to Anomie?

Options :

A. % The study of big groups

B. # The study of small groups

C. ¥ A condition of instability resulting from a breakdown of standards and values or from a lack of purpose or ideals

D. # Point to explain problems, actions, or behaviour

Question Number : 234 Question Id : 97675511117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed 7 @ & 91 Sy ufaad o Jefifd Hrdr 82

Options :

A. % g5 9YgI BT I

B. * BIc THEI BT LT

C. ¥ UH®! 3R Gedl & ger a1 3e- 1 31N & HHl ¥ I SRRl &1 fufq
D. % T3, BTl U7 SAdER B TR B & o 3Ad Har g

Question Number : 235 Question Id : 97675511118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of Political Decentralisation?
Options :

A. % People are drawn in to decision-making process

B. ¢ It involves transferring subject-specific functions to local tiers.
C. # Local tiers are democratically elected

D. # Local bodies are given political status to ensure people’s participation

Question Number : 235 Question Id : 97675511118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeEd # 4 S19-91 Teifde AP die B favd 78t 22

Options :

A. % an fofa o @ ufsean & seftfd gid @

B. v 0% [qva-fafkiy Sl & R Rl IR RIMARd AT M 5

C. ® RIMY TR Abditd did d - od &

D. # QNN &I YFERT YT B & o1 i el &1 Aerifae gelf fear S g

Question Number : 236 Question Id : 97675511119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The meaning of economic development has changed. In this context, who of the following is the author of ‘Development as freedom’?
Options :

A. % Dudley Seers

B. ¥ Amartya Sen

C. ® Mansell

D. # Wehn

Question Number : 236 Question Id : 97675511119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A ® ‘g’gﬁ I (Dudley Seers)
B. ¢ 3 T4 (Amartya Sen)

C. = W(Mansell)
D. # a:f(Wehn)

Question Number : 237 Question Id : 97675511120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Dowry Prohibition Act passed?
Options :

A. ¥ 1961

B. # 1965

C. % 1971

D. ®# 1972

Question Number : 237 Question Id : 97675511120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tool Ny ST wa T fobar ar um
Options :

A. ¥ 1961

B. ¥ 1965

C. % 1971

D. # 1972

Question Number : 238 Question Id : 97675511121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is the most important feature of rural society?
Options :



A. #* Westernisation
B. ¥ Homogeneity
C. * Modernisation

D. * Westernisation and Modernisation

Question Number : 238 Question Id : 97675511121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % UIFHIBRT

B. ¢ Uh=Udl

C. % 3YMHBIDHRUI

D. % Uil 3R SMYFeBIHUl

Question Number : 239 Question Id : 97675511122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is a broader term and it can subsume the narrower process of brahminisation?
Options :

A. # Value rationality

B. ¥ Homogeneity

C. # Modernisation

D. # Sanskritization

Question Number : 239 Question Id : 97675511122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A. % g dHII]




B. ¥ U Udl
C. # 3Nyl
D. ¥ TIPIdBI

Question Number : 240 Question Id : 97675511123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the Caste Disabilities Removal Act was established?

Options :
A. * 1869
B. # 1876
C. ¥ 1850
D. # 1871

Question Number : 240 Question Id : 97675511123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Siifa A zraadr fRaron sifefaaw feg o wifue fesar mare

Options :
A. * 1869
B. # 1876
C. ¥ 1850
D. # 1871
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Question Number : 241 Question Id : 97675511124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not one of the modes of individual adaptation proposed by Merton?
Options :

A. ¥ Association

B. * Innovation

C. # Ritualism

D. # Rebellion

Question Number : 241 Question Id : 97675511124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¢ gfHfa

B. % Y

C. % fafedrg

D. # fagig

Question Number : 242 Question Id : 97675511125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who said that “all universal definitions of marriage are vain’?
Options :

A. ¥* Gough

B. ¥ Leach

C. # Needham

D. # Bohanan

Question Number : 242 Question Id : 97675511125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore FgT o faare ot wft rduifie afeuTeTd o 872
Options :

A. ® T

B. ¢ dd

C. ® diyn

D. * digMH

Question Number : 243 Question Id : 97675511126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Social behaviour is best understood in terms of tension between competing groups. Which sociological perspective holds this?



Options :

A. # Communalism
B. # Modernisation
C. # Microsociology

D. ¥ Functionalist perspective

Question Number : 243 Question Id : 97675511126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % GYGIRID

B. % 3MTYfADHIhUl
C. % Y&H GHISIRIRA
D. ¥ HIHD URUed

Question Number : 244 Question Id : 97675511127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has given the statement that “Sociology is the science of understanding of the meaning of social action.”?
Options :

A. ¥ Max Weber

B. ¥ C W. Right

C. # Tylor

D. # Herbert Spencer

Question Number : 244 Question Id : 97675511127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forge a5 o foa § T mreTRiee Ao fopdm & 31l &l S &1 oM g1 2

Options :



A. ¢ TR IR

B. # ¥l &g, ST
C. # CIgeR

D. ¥ gac W

Question Number : 245 Question Id : 97675511128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the news agency 'Samachar' created?
Options :

A. % 1971

B. # 1972

C. #1975

D. ¥ 1976

Question Number : 245 Question Id : 97675511128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % 1971

B. # 1972

C. #1975

D. ¥ 1976

Question Number : 246 Question Id : 97675511129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the time of pre independence, which newspaper agency was providing news to the Indian newspapers ?
Options :

A. #* Times Of India



B. ¥ The CANA
C. ¥ Reuters
D. ¥ The IRNA

Question Number : 246 Question Id : 97675511129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ TISH 3% Sfedn

B. % HUTU

C. ¢ gy

D. % 3{$3RTT

Question Number : 247 Question Id : 97675511130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries progressed in economic terms, but did not change its cultural values?
Options :

A. # India

B. # The USA

C. ¢ England

D. # Canada

Question Number : 247 Question Id : 97675511130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ® YRd

B. ¥ g T AR



C. ¥ s

D. # &[Sl

Question Number : 248 Question Id : 97675511131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To give emphasis on the strengthening of Democratic process and redistribution of power, which model is helpful?
Options :

A. #* The new model Schramm

B. #* The old model Schramm

C. ¥ The participatory model

D. * The alternative paradigm

Question Number : 248 Question Id : 97675511131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ABaiD UfshaT &l ASTgd B 3R T & AR TR SR &1 & fIE B 91 Arsd JeTad 82
Options :

A. % U TS IRY

B. ¥ IR AlSd IRY

C. ¢ TieRUest Alsd (HIMaRD)

e —~ o\
D. # dd[cdh YIdHTA

Question Number : 249 Question Id : 97675511132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many distinct types of social action have been identified by Weber?
Options :

A *®2

B. %3

C.¥ 4



D. ¥ 5

Question Number : 249 Question Id : 97675511132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dsR A fara faRRs YR &t IS foansht &t uga™ &1 g2
Options :

A ¥ 2

B. #3

C.¥4

D. ¥ 5

Question Number : 250 Question Id : 97675511133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following points is correct for the culture core?

Options :

A. # The constellation of features which are not related to subsistence activities and economic arrangements

B. ¥ The constellation of features which are not related to subsistence activities and legal arrangements

C. ¥ The constellation of features which are most closely related to subsistence activities and legal arrangements

D. # The constellation of features which are most closely related to subsistence activities and economic arrangements

Question Number : 250 Question Id : 97675511133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o a1 fig Wefd R & fou w8t g2

Options :

A. * gfaersfi &1 wg o fHafe nfafafiat sik snfie soawsii & dsfd 78t &

B. % gfaursfi &1 gqg SN fFafg nfafafmt ofR S cawitef 9§ Heferd gl §

C. ¢ gfaursit &1 aqg S fAafe nfafafert oiR S saawist ¥ Ta 3iftie Havear 3 dafid g
D. * gfaunait &1 ggg o fAafe nfafaftm sik snfife crawimst @ ga 31t Adear 3 Wefdd g



Question Number : 251 Question Id : 97675511134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following points is correct for Ecological anthropology?

Options :

A. # The constellation of features which are not related to subsistence activities and legal arrangements

B. # The constellation of features which are most closely related to subsistence activities and legal arrangements

C. ¥ Provide a materialist explanation of human society and culture as products of adaptation to given environmental conditions

D. # Provide an ideological explanation of human society and culture as products of adaptation to given environmental condition

Question Number : 251 Question Id : 97675511134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

uiRfRUfae famm & fo FafaRed o 9 o1F w1 fdg w8t 82

Options :

A. % gfaersft &1 wg S fHafe nfafafiat sik snfie soawrsii & defia 78t §

B. % gfaursff &1 Iqg N Fafe nfafafert ofR S crawimeft ¥ wed 31fde Fdear 3 d6fia §

C. ¢ 78 gafarulig fRUfA & 3ga & Il & U & AFd JHIS 3R IHA &1 T IS TR U By

D. ¥ &Y T yafaRuity uRfAUfTl & sdped & Sdel & U & AFd JATS 3R WG B Th THTId SRAT TG B

Question Number : 252 Question Id : 97675511135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one from the following has formed new schools of thought, including the ecosystem model, ethnoecology, and historical ecology?

Options :

A. ¥ Idealism

B. ¥ Ecological anthropologists
C. ¥ Ecological economists

D. # Environmental determinists

Question Number : 252 Question Id : 97675511135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % 3fRidrg

B. ¢ UIRfRufde® AHafdr!

C. # gRffa® sl

D. % UgiaRul fRuR®

Question Number : 253 Question Id : 97675511136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is a reaction of ecological anthropology, which is the idea that all objects and mind have representations in nature?
Options :

A. % Environmental determinists

B. # Psychological group

C. ¥ Idealism

D. # Functionalism

Question Number : 253 Question Id : 97675511136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HH-T uifRufaes Ara fagm &t ufafsrar 8, < o8 faar 8 6 uefa & 9l axqu ok 7= o1 ufaffia §
Options :

A. % gafR RyRe

B. ¥ HHIAR® Wg

C. ¥ 3Texiare

D. # IAgIRepdl

Question Number : 254 Question Id : 97675511137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which one of the following stages of human society, one can use animal to prepare food?
Options :

A. # Agricultural

B. #* Foraging

C. # Industrial

D. ¥ Pastoral

Question Number : 254 Question Id : 97675511137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % DY

B. ¥ dRT

C. % 3Nfs

D. ¢ IRNTGI

Question Number : 255 Question Id : 97675511138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is basic characteristic of primary group?
Options :

A. % Psychological group

B. ¥ Idealism

C. # Functionalism

D. % Intimate face to face association

Question Number : 255 Question Id : 97675511138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % TGRS g
B. % 3GRIaIG

C. % HagIRDpdl

D. ¢ ol gEIHY g ¥4

Question Number : 256 Question Id : 97675511139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On what the A.R. Desai’s theory of Social change is based?
Options :

A. ¥ Structure of society

B. # Population of society

C. # Culture of society

D. # Life style in Society

Question Number : 256 Question Id : 97675511139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3[R 3TTs BT JrHTSIh IRad o1 Rigid frg W snerfkd g2
Options :

A. ¥ QHIS & TR

B. ¥ HHIS ] ST

C. % THS B Ypid

D. ¥ AN ¥ Siia Al

Question Number : 257 Question Id : 97675511140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the founder of Satya Shodhak Sama;j?
Options :



A. * Tilak

B. # Ranade

C. # Raja Ram Mohan Roy
D. # Jyotiba Phule

Question Number : 257 Question Id : 97675511140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T RMYH THS & RIS DI 67
Options :

A. % fdd®

B. % IS

C. * ST IH HIg g

D. ¢ el Hal

Question Number : 258 Question Id : 97675511141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following means giving up self-interest or hostility for the sake of mutual benefit?
Options :

A. ¥ Positive reciprocity

B. ¥ Balanced reciprocity

C. # Negative reciprocity

D. # Exchange of gifts

Question Number : 258 Question Id : 97675511141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ HRIHAD TRIR D]




B. ¥ Idfcid URI R
C. ¥ THRIAD URWRPH
D. ¥ YUSRI BT 3TGH-UGH

Question Number : 259 Question Id : 97675511142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following statements is correct for the impacts of globalization on relative deprivation ?
Options :

A. # change keep to remains

B. ¥ Relative deprivation is increased

C. # Relative deprivation is decreased

D. # There is no impact on relative deprivation

Question Number : 259 Question Id : 97675511142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % e 34T FRR TEdr e

B. ¢ W&l (U §gT el 8

C. % TUef 3T HH AT/ &

D. * W&l SfHTT TR HIS THTE TS Ul &

Question Number : 260 Question Id : 97675511143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ecological Approach of Urban Sociology was developed by -------------- .
Options :

A. ¥ R E Park

B. ® Max Weber



C. * E Durkheim
D. * F Tonnies

Question Number : 260 Question Id : 97675511143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :
A. ¥ 3RS UI& (R E Park)
B. % T d¢R (Max Weber)

C. % § gWH (E Durkheim)
D. # U a9 (F Tonnies)

Discipline9

Group Number : 14

Group Id : 976755337

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline9

Section Id : 976755662

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755783
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 97675511144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Madhya Pradesh, shifting cultivation is named as:
Options :

A. # Podh

B. # Jhum

C. ¥ Dahiya

D. % Koman

Question Number : 261 Question Id : 97675511144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Uy H, g Tl B T fear T B |
Options :

A % Ty

B. # gH

C. ¥ gfed

D. ¥ BT

Question Number : 262 Question Id : 97675511145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At the time of French revolution who was the king of France?



Options :

A. ¥ Louis XVI
B. # Louis XIV
C. # Edward III
D. # Caesar IX

Question Number : 262 Question Id : 97675511145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH IR Shifd o THY Thi™ T XD DI U2
Options :

A. ¢ T3 i

B. ¥ T3 Tggd

C. % TSa8 g

D. % HoR Al

Question Number : 263 Question Id : 97675511146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of Rationalism, who had said- 'I think, therefore I am'?
Options :

A. % Aristotle

B. ¥ Descartes

C. # Pythagoras

D. # Plato

Question Number : 263 Question Id : 97675511146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ddhare & Jay o fre et o1 & Tear §, safau H g2

Options :




A. ¥ 3R] (Aristotle)

B. ¥ SUBICY (Descartes)
C. % UISYNIRY (Pythagoras)
D. % Wicl (Plato)

Question Number : 264 Question Id : 97675511147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not applicable for culture and civilisation?
Options :

A. # Both respond

B. # Both does not respond

C. # Both are concerned with life style

D. # Both are linked with psychology

Question Number : 264 Question Id : 97675511147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § & oo 9w fa 3R Twdr & forg am T8t 32
Options :

A. % S SaTe 3 §

B. % QI SfaTe gl &d

C. % G ST HFY ST AN T8

D. ¢ S AN A 9IS gU &

Question Number : 265 Question Id : 97675511148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who said that “all cultures go through a regular succession of stages™?
Options :

A. % Max Weber



B. ¥ C W. Right
C. ¥ Abraham Lincoln
D. ¥ Oswald Spengler

Question Number : 265 Question Id : 97675511148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 3 frga wer U1 b gt T faat =Rul & we fHafiyd a @ oRd g
Options :

A. % AFH IR (Max Weber)

B. # dl. §sY, AT (C W. Right)

C. % 3fagy foiod (Abraham Lincoln)

D. ¢ 3faics W (Oswald Spengler)

Question Number : 266 Question Id : 97675511149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The groups, formed by sociologists and statisticians instead of the members themselves are called
Options :

A. # Corporative group

B. # Psychological group

C. # Physical group

D. # Statistical groups

Question Number : 266 Question Id : 97675511149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. * JRT g

B. % THIGTIH® g




C. ® ifd®s g
D. ¥ GiReTH 1 Tg

Question Number : 267 Question Id : 97675511150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the post-independence India, which of following studies was the most popular among the Sociologists in India?
Options :

A. #* Urban studies

B. ¥ Village studies

C. # Industrial relations

D. # Trade unions

Question Number : 267 Question Id : 97675511150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ® eI g

B. ¢ JTH Y-

C. % 3N Taiy

D. % ¢S g(a

Question Number : 268 Question Id : 97675511151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Members of a crowd come together to achieve which one of the following?
Options :

A. ¥ Temporary but common purpose

B. # Lasting purpose

C. # Durable purpose



D. # Neither common nor durable purpose

Question Number : 268 Question Id : 97675511151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & Jew Fufeiad # 3 f59 e & Uid &1 & R e Iy 3d § 2
Options :

A. ¢ IR dfdh IHI Ie-T

B. % QI 359

C. % RPIS IeW

D. # T AT 3R 7 g VIt g

Question Number : 269 Question Id : 97675511152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was ICSSR (Indian Council of Social Science Research) founded?
Options :

A. % 1959

B. # 1967

C. ¥ 1969

D. # 1971

Question Number : 269 Question Id : 97675511152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICSSR (YR ATHTRI fas S uRyg) &1 R %4 g5 &
Options :

A. % 1959

B. ® 1967

C. ¥ 1969

D. # 1971



Question Number : 270 Question Id : 97675511153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The fighter Shamsher Singh belongs to the tribe of the
Options :

A. # East West frontier

B. # East North frontier

C. # East south frontier

D. ¥ North West frontier

Question Number : 270 Question Id : 97675511153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THeR Rig B! AT SFSTTa & Teifdd B
Options :

A. % g Uiy daid

B. ¥ T4l 3R WHd

C. % ydf gférur daig

D. ¥ IR UfgH AT

Question Number : 271 Question Id : 97675511154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to modern thinking a person with a deviant behaviour
Options :

A. # should be socially boycotted

B. # should be severely punished

C. % should be treated as a lunatic

D. # should be convinced about observance of social norms

Question Number : 271 Question Id : 97675511154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3ATYHD I & HTAR T faaferd HdgR dlel fad

Options :

A. % BT IS dieshR foodl ST a1ieu

B. % &l Hot ol fe! T8y

C. % % Udh UNTd & & U H oIagR fhdl ST 91igq

D. ¢ B AHING AMGS! & OTe & IR H 314 fdbaT ST a1y

Question Number : 272 Question Id : 97675511155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For the competition, which one of the following is true?
Options :

A. % Itis a continuous process

B. # It is personal

C. ¥ It is impersonal

D. # In is continuous and
personal

Question Number : 272 Question Id : 97675511155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gioaiTan & forg, Fafafea § 9 o S ad 82
Options :

A. % U5 TP 9ad Ulhar g

B. % Ug AfokiId §

C. ¥ U8 3ufaad §

D. % g R IR AfGTa g

Question Number : 273 Question Id : 97675511156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not the function of competition?

Options :

A. # It has provided a stimulus to technological innovations

B. # It is responsible for providing stimulus to organizational innovations
C. % It creates desire to excel over others

D. # It is directly concerned with the individuals

Question Number : 273 Question Id : 97675511156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o ¥ SH-91 Th Ufcrifiar &1 &1 Ta! 62

Options :

A. % 3T db-Idb] TAER) &l NdTe U fHar g

B. % Ug YSAHSD IdRIR] B! Mg U & & fort Sriier 8
C. % I8 TWRI R ISV U B P! 331 Ual Bl §

D. ¢ 3UHT T Je¢ Afdadl 4 8

Question Number : 274 Question Id : 97675511157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following falls under the category of tertiary affinal kinship?
Options :

A. ¥ Grand-father of the daughter-in-law

B. # Father of the wife

C. # Father of the mother

D. # Father of the uncle

Question Number : 274 Question Id : 97675511157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frofafed o @ HF-31 gdiaew daife® et & 3t 7 eir 32
Options :

A. ¥ 98 & GIal

B. ¥ Ual o fUd

C. % T & fuar

D. ® 9ral & fUdr

Question Number : 275 Question Id : 97675511158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has said that “In eastern India man’s status varies in inverse ratio to the width of his nose”.
Options :

A. # S. C. Dubey

B. # M.N. Srinivas

C. # Y. Singh

D. ¥ H. Risely

Question Number : 275 Question Id : 97675511158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem og Py fean § 16 »gdf yra & ww &) Rufa S 1 &t AreTe & faudia srqurd & fig gt 8
Options :

A. % 7Y 9. g9

B. # TH.UA. fiHard

c. % 9. g

D. ¢ Td. 4t

Question Number : 276 Question Id : 97675511159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which theory starts with the idea that every individual wants to live in group and does not wish to displease his group leaders?



Options :

A. ¥ M. N Dubey Theory

B. # McDougal Ps Theory
C. % Multiple Factors Theory
D. # Trotter Theory

Question Number : 276 Question Id : 97675511159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % TH. U9 gd Rria

B. ¥ HdheNTd Uy Rigid

C. ¥ UHIP HR® NG

D. ¢ Tlex TR

Question Number : 277 Question Id : 97675511160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mark out the factor contributing to high maternal mortality rate-
Options :

A. # Antenatal Care

B. ® Education

C. #* Increase in the number of working women

D. " Early Marriage

Question Number : 277 Question Id : 97675511160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A. ¥ T9dQd ¢@HTd

B. % fRref

C. % PHIHBToI AigATs]l B TBAT H g
D. ¢ Sedl Qe

Question Number : 278 Question Id : 97675511161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an aspect of Urban-sociology?
Options :

A. # Rural-Urban migration

B. ¥ Industrial relations

C. # Slums

D. * Ethnic conflict

Question Number : 278 Question Id : 97675511161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o 8- THSIRIRG &1 Us U8 ol 82
Options :

A. % YTHIUL-RE U

B. ¢ 3TN Taiel

C. % HieH Skl

D. ¥ Sy dgy

Question Number : 279 Question Id : 97675511162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Max Weber , refers to the unequal distribution of economic rewards whereas refers to the unequal distribution of
social honour.

Options :

A. # class, caste



B. ®# power, prestige
C. ¥ class, status

D. # caste, class

Question Number : 279 Question Id : 97675511162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % T3, wfa

B. % foxd, UfcrsT

c. v i, Ryfa

D. ® Gfq, 9t

Question Number : 280 Question Id : 97675511163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Whose work is ‘Social Organisation’?
Options :

A. ¥ W.H.R. Rivers

B. ® W.J. Perry

C. ¥ G. S. Ghurey

D. # K. P. Chattapadhyay

Question Number : 280 Question Id : 97675511163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR 1o fbge! Hia 82

Options :

A. % S&YTI.IR. NG (W.HLR. Rivers)



B. ¥ &g o U (W. J. Perry)
C. ¥ S TI YA (G. S. Ghurey)
D. ® & W JSTUTHTY (K. P. Chattapadhyay)
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Question Number : 281 Question Id : 97675511164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The famous quote in the history of Sociology is “Educational Sociology is the study of the interaction of the individual and his cultural
environment.” was stated by . (Choose the correct alternative)

Options :

A. ¥ Ottoway
B. # Carter
C. ® Brown
D. # Skinner

Question Number : 281 Question Id : 97675511164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTSTIRA & 3faeTd H UG IeTevvl & fob e Jrreeid dfad iR 3% TG araraRul &1 IR 3eaa— g 1"
& GRI B8 T YT (T fasbed )

Options :

A. ¢ 30dld
B. ¥ B
C. % 934
D. ¥ PR

Question Number : 282 Question Id : 97675511165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not correct about schools (in the field of Sociology)?
Options :

A. # They are social agencies of cultural transmission

B. ¥ They are potential agents of conflicts and disintegration

C. # They are powerful instruments of social change

D. # They are necessarily affected by the social and economic situations and changes in our civilisation

Question Number : 282 Question Id : 97675511165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ J QRepiad TURUT &1 IS TSl §

B. ¢ 3 g9y 3R fages & Juifad Tole §

C. % J g gRad- & fGa=iel SUHRUT §

D. ¥ J 3{aRg® U § 1T 3R 3nfdfer Rufaal ofik gt wgar & ufvad= § guifad gid &

Question Number : 283 Question Id : 97675511166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Child is always considered as the future of a nation. The all-round development is the ultimate goal of a society. Which one of the following is
the least hindrance in the way of the optimum development of child’s personality?

Options :

A #® Incompetent teachers

B. ¥ Free education for all and equal opportunity

C. # Mad scramble among various social groups for getting as much of the goods of education as possible

D. # Limited economic surplus that could be spent on education

Question Number : 283 Question Id : 97675511166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ® 3i&H gD
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Question Number : 284 Question Id : 97675511167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The modern curriculums have been designed while keeping in mind some particular learning out comes. Educational Sociology deals with which
one of the following aspects of education?

Options :

A. # Psychological
B. # Economic

C. # Historical

D. # Social

Question Number : 284 Question Id : 97675511167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % TGS

B. % 3w

C. % Ufdgiise

D. ¢ HHIfTh

Question Number : 285 Question Id : 97675511168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India somehow has achieved success in the field of Child Education after crossing the hurdles of many toughest challenges. What according to
you the least important challenge to Indian education today?

Options :

A. * High cost of education
B. # Low return on education
C. ¥ Poverty of the masses
D. # Expanding population

Question Number : 285 Question Id : 97675511168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % T8 & = AT

B. % fRian R A R

C. ¢ SIdl DI TRl

D. ¥ S8 $1 [AER

Question Number : 286 Question Id : 97675511169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A country like India which is always guided by many influences may it be Social, Economic or Religious. But still, according to you, which of
the following does not influence the process of education?

Options :

A. % Political organization of the society

B. ¥ The upper middle class of the society

C. ¥ The culture of the society and its social institutions

D. # Social class structures

Question Number : 286 Question Id : 97675511169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 287 Question Id : 97675511170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a teacher’s duty?
1. Maintaining record of pupil’s attendance
2. Organizing curricular and co-curricular activities:

Options :

A. % Only 1

B. # Only 2

C. ¥ Both 1 and 2
D. # Neither 1 nor 2

Question Number : 287 Question Id : 97675511170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % $Had |

B. % $dd 2

C. ¥ gHi 1 3R 2

D. % a1 3R 2

Question Number : 288 Question Id : 97675511171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human beings are the best Social Creature in the Universe. He always wants be with his Friends and Family. As a teacher of sociology which of
the following statements is not true about the family?

Options :
A. # Tt is the only socially recognized relationship for child bearing
B. # It is an essential agency for socializing and rearing the child

C. ¥ It is the only institution of society which caters to the development of child’s personality



D. # It is the only important agency that introduces the child to the culture of the society

Question Number : 288 Question Id : 97675511171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T §lTS o Yoy 33T 1o TIOR8 | 98 SRR 304 a1 3R URaR & TrY Ig-1 31l & | THISIRIRG & e & =0 # fAgfafaa
T P 9T HY IRAR & IR F Te T 82

Options :

A. ® g2 & O & o0 T8 THHE IR 0 I HI-l U 6 §

B. ¥ I8 9 & QMG HRUT 3R UTerH-UINUT 3 fog U SMTawads Told! §

C. ¥ U8 A &1 THAT TR 8 Sl 9o & Afdda & (9T Bl IRT el &

D. % Jg UHHHE HEdYU! Yol § S JHIS & TP id ° T HT IRad draldl g

Question Number : 289 Question Id : 97675511172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Every time is learning time” for everyone. It may be applicable for a teacher as well as a student. Likewise what type of education the family
imparts to the child according to you?

Options :

A. ® Regular
B. # Deliberate
C. ¥ Informal
D. # Formal

Question Number : 289 Question Id : 97675511172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ® ofaa
B. ¥ SR



C. ¢ ARG
D. % MU=

Question Number : 290 Question Id : 97675511173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Both state and Central Governments have an equal education policy. Both have the equal control over educational system. Control of the
Government over the education system is unavoidable as

Options :

A. % The government is all powerful

B. ¥ Education costs money; and money can be provided by the government only
C. # The very term “govern” means control

D. # The government is empowered to exercise control by the people themselves

Question Number : 290 Question Id : 97675511173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 291 Question Id : 97675511174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teacher should always inculcate the concept of practical learning among his students for making a perfect person out of him. The idea of
practical learning means education should apply to the:

Options :
A. % abstract knowledge



B. # practice
C. * society
D. ¥ real world

Question Number : 291 Question Id : 97675511174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % I IE
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Question Number : 292 Question Id : 97675511175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of perennial wisdom in education means school curricula should focus on what is:
Options :

A. * inneed

B. #* important

C. #* in demand

D. ¥ everlasting

Question Number : 292 Question Id : 97675511175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Question Number : 293 Question Id : 97675511176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Indian Schooling System both the Private as well as Government School shares equal importance in the field of Education. Both runs under
the guidance of Government as well. According to you which of the following is not correct about the role of government in schooling?

Options :

A. ¥ It will be affected by neither of the foregoing conditions

B. ® It will diminish if schooling affects smaller domains of the public interest and welfare

C. # It will swell if the institutional arrange—ments in the society become more and more inter-dependent

D. # It will swell if schooling affects larger domains of the public interest and welfare
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Question Number : 294 Question Id : 97675511177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a child three areas play most important part in term of psychological development-School, family and society. The essential function of the
family, as a social institution is

Options :



A. * Imparting formal education at the initial stages of life
B. # Increasing community’s population

C. # Producing children

D. ¥ Rearing of children during their immaturity

Question Number : 294 Question Id : 97675511177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 5= & U gaene o &1 2P § dF & g9 Ayl yfie AT 8- od, TRaR SR JaTST | T e ST & &0 §
ORAR &7 TS BT § -

Options :

A. # Sfig & TR IRl § S fRiem v HAr
B. ¥ YOG &1 a1l 1 gfg

C. * g UgI el

D. ¥ §=I B AURTSHAT P R IDT UTE-TNoT

Question Number : 295 Question Id : 97675511178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indian orthodox society can be divided into various levels of people in term social and economical status. As a teacher of Sociology which of the
following is not one of those?

Options :

A. % Middle class
B. # Lower class
C. # Upper class
D. ¥ Hindus

Question Number : 295 Question Id : 97675511178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRAT Ffeard! gars &) grarfoie 3R 3nfie fRufa & e & i & faftys <Rl & fawifSra fovan s g 3 | gaTeRRd & e & =0
A Fefied & 9 o 378 ¥ T el 82




Options :

A. % T i
B. * g ai
C. % IF T

D. ¥ fég

Question Number : 296 Question Id : 97675511179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a child three areas plays most important part in term of psychological development-School, family and society. In general the maximum
contribution to the process of socialization, comes from which one of the following?

Options :

A. # Teacher

B. ¥ Community
C. # School

D. ¥ Home

Question Number : 296 Question Id : 97675511179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 9 & o AR fAhT &1 € ¥ o & o Ag@yul YfHeT FUTd §- od, TRaR SR THTe! | IHRI dR IR GHTS a0 $i
yfehar § S ad aiTeM FafaRad & 3 {6 U 9 St g2

Options :

A. # AU

B. # {H{alg

C. % hd

D. ¢ g

Question Number : 297 Question Id : 97675511180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As Teacher of Sociology for the Senior Secondary Classes, which things you will do first just after entering the class? (The situation is that you



have the previous information that the class is too much disturbing and noisy.)
Options :

A. # Giving them punishment

B. # Just Avoid the situation

C. # Send of the students out of the class

D. ¥ Give each and everyone some calculative things to write

Question Number : 297 Question Id : 97675511180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy ATeaftie FHemsit & forw THIE & e & ©U A, H&T H Ud HR4 & 916 317 I Ugd HiF I HH Ha? (R ug g fF
3T U FU el SR § fo e agd Sifids TR - arelt 3R R arelt g1)

Options :

A. % 3 oIl G

B. ¥ §9 [Yfq I &

C. % B DI HET Y TER Horl

D. ¢ Ud® & foras & o $ 0TS Tiol &

Question Number : 298 Question Id : 97675511181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a child has mental age of 10 years and chronological age of 9 years than what will be the IQ of child?
Options :

A. % 122

B. # 85

C. ¥ 111

D. ®# 119

Question Number : 298 Question Id : 97675511181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g oot o= ) AT S 10 T 3R HIATIHHE 3T 9 T8 § dl S BT ATy ol G2



Options :
A. % 122
B. # 85
C. ¥ 111
D. # 119

Question Number : 299 Question Id : 97675511182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a teacher of Sociology you have done enough research in this particular field for many years. According to you which one of the following
social institutions of India does not have a profound effect on education?

Options :

A. ¥ The business class organisation
B. # The government

C. # The religion

D. * The family

Question Number : 299 Question Id : 97675511182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTSIRING & fRI&d & =0 H 319 39 faRiy &5 § &8 au adb gar Y fHa1 g1 3Mudh SHER YRd &I Fafaied § 9 fvg I
TRIT BT TRAT TR T6R1 THIG 8] Sl &7

Options :

A. ¢ TS ol 134

B. ¥ IRHR

C. % gf

D. ¥ ORaR

Question Number : 300 Question Id : 97675511183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T FRreror SR § O BET BT UTaH- Ul R 38 § (% U § RIS S90 o fR1em H) 3 H1q e 3 SraeRon &Y o
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Options :

A. % QYHRE™

B. % 1&g/

C. ® gHN

D. ¢ dd]

Question Number : 300 Question Id : 97675511183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In almost all the educational institutions who are nurturing the little ones (mainly in the early childhood education) have adopted the concept of
mother teacher. Being a trainee teacher you should have the belief that the education comes from the experience of the

Options :

A. % Principal
B. # Teacher

C. # Society

D. ¥ Child



